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{FORMERLY TIMES IAS ACADEMY} 
 

Booklet Series              Register Number 

 

TNPSC – GROUP - I 
TEST - 1 

HISTORY, GEOGRAPHY, APTITUDE, CURRENT AFFAIRS 
[Time Allowed : 3 Hours]               [Maximum Marks: 300] 

Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 
1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open it at the 

commencement of the examination. As soon as the signal is received you should tear the right side of the booklet 
cover carefully to open the booklet. Then proceed to answer the question. 

2. This Question Booklet contains 200 questions. 

3. Answer all questions. All Questions carry equal marks. 
4. The Test Booklet is printed in „A‟ series booklet, he/she has to indicate in the side 2 of the Answer Sheet with Blue 

or Black Ink Ball point pen as follows: 
 

 
 
 

5. You must write your Register Number in the space provide on the top right side of this page. Do not write anything 

else on the Question Booklet. 
6. An Answer Sheet will be supplied to you separately by the invigilator to mark the answers. You must write your 

Name, Register No. and other particulars on side 1 of the Answer Sheet provided, failing which your Answer sheet 
will not be evaluated. 

7. You will also encode your Register Number, Subject Code etc., with Blue or Black Ink Ball Point Pen in the space 
provided on the side 1 of the Answer Sheet. If you do not encode properly or fail to encode the above information. 
Your Answer Sheet will not be evaluated. 

8. Each question comprises four response [A], [B], [C] and [D]. You have to select ONLY ONE correct response and 

mark in your Answer Sheet. In case you feel that there are more than one correct response, mark the response 
which you consider the best. In any case, choose ONLY ONE response for each question. Your total marks will 
depend on the number of correct responses marked by you in the Answer Sheet. 

9. In the Answer Sheet there are four brackets [A], [B],[C] and [D] against each question. To answer the questions you 

are to mark with Ball point pen ONLY ONE bracket of your choice for each question. Select one response for each 
question in the Question Booklet and mark it in the Answer Sheet. If you mark more than one answer for one 
question, the answer will be treated as wrong. E.g. If for any item, [A] is the correct answer, you have to mark as 

follows: 
[A] [B] [C] [D] 

10. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take this 
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the 

examination is concluded, you must hand over your Answer Sheet to the invigilator. You are allowed to take the 
Question Booklet with you one after the Examination is over. 

11. The sheet before the last page of the Question Booklet can be used for Rough Work. 
12. In all matters and in cases of doubt, the English Version is final. 

13. Do not tick-mark or mark the answer in the Question Booklet. 

 

      [A]           [B]               [C]               [D] A 
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SYLLABUS FOR TEST - 01 
 

 

 

 

 

 
TEST 
NO 

 
SUBJECT 

 
TEST SYLLABUS 

REFERENCE BOOKS  
&  

TEXT BOOKS 
 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

HISTORY 

 Indus valley civilizaon - Guptas, 

Delhi Sultans, Mughals and 

Marathas - Age of Vijayanagaram 

and Bahmani Kingdoms - South 

Indian history  

 Change and Connuity in the Socio 

- Cultural History of India 

 Characteriscs of Indian culture, 

Unity in diversity – Race, 

language, custom 

 India as a Secular State,Social 

Harmony 

 

 

 

 

 Std 6,7,8,9,10,11               

(Old Books) 

 Std 7,9 (New Books) 

 

 

 

GEOGRAPHY 

 Locaon – Physical features - 

Monsoon, rainfall, weather and 

climate - Water resources - Rivers 

in India - Soil, minerals and 

natural resources - Forest and 

wildlife - Agricultural paern - 

Transport – Communicaon 

 

 Std 6,7,8,9,10(Old 

Books) 

 Std 11- Geography 

(New Book) 

 

APTITUDE 
 Highest Common Factor (HCF)-

Lowest Common Mulple (LCM)- 

Simplificaon 

 Quantave Aptude by 

R.S.Agarwal 

CURRENT 

AFFAIRS 
 January 2020  The Hindu 
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HISTORY  

1. Which one of the following was not a capital of Magadha? 
 a) Pataliputra  b) Rajgir  c) Siraswathy  d) Gurushethra  
  
 fPNo cs;stw;wpy; ve;j xd;W kfjj;jpd; jiyefu; ,y;iy? 
 m) ghlypGj;jpuk;  M) uh[fpUfk;  ,) rpuh];tjp  <) FUNrj;jpuk;   
  
2. Choose the wrongly matched  
       Author             Book 

 a) Ashwagosha   - Buddha Charitha  
 b) Vasumithra   - Mahavibasha  

 c) Susurutha   - Sutralankara  
 d) Charaka    - Charaka Samrita      
  
 jtwhd ,iziaj; Njh;T nra;f  
     Mrphpah;            Gj;jfk;  
 m) mRtNfh~h;   - Gj;j rhpjk;  
 M) thRkpj;jpuh;   - kfhtpgh~h 
 ,) RRUjh;    - #j;jpuyq;fhuk;  
 <) rufh;    - ruf rk;hpjh 
  
3. The 18 Purana‟s compiled in the _____________ period  
 a) Maurya   b) Gupta  c) Kushanas d) None of these  
  

18 Guhzq;fs; njhFf;fg;gl;lJ _____________ fhyk;  
 m) nkshpah;   M) Fg;jh;  ,) F~hzh;fs; <) ,jpy; vJTkpy;iy 
  

4. The Mehrgarh was situated on which of the following river bank? 
 a) Bolan  b) Indus  c) Saraswati  d) Ravi  
  
 nkn`h;fh; fPNo cs;s ve;j ejpapd; fiuapy; mike;Js;sJ? 
 m) Nghyd;   M) rpe;J  ,) ru];tjp  <) uhtp  
  
5. Choose the wrongly matched  
        Human        Place  

a) Homo habilis   - South Africa  
b) Homo erectus   - Asia  
c) Neanderthal   - Africa  

d) Cromagnons   - France  
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 jtwhd ,iziaj; Njh;f  
   kdpjd;         ,lk;  

m) N`hNkh n`gpyp]; - njd; Mg;gphpf;fh  
M) N`hNkh vuf;l];  - Mrpah  
,) epahz;lh;jhy;   - Mg;gphpf;fh  
<) FNuhkhf;dd;];   - gpuhd;];  

  
6. The total number of pillars found in the conference hall at 

Mohenjadaro was ___________ 

 a) 20   b) 30   c) 40   d) 60 
 
 nkhfQ;rjhNuh $l;l muq;fpy; fhzg;gLk; J}z;fspd; vz;zpf;if___________ 
 m) 20   M) 30   ,) 40   <) 60 
 
7. Which of the following site was situated in Southernmost ? 

 a) Mantha   b) Kalibangan  c) Lothal   d) Amri  
 
 fPNo cs;stw;wpy; njw;F Nfhbapy; mike;Js;s ,lk; vJ? 
 m) ke;jh  M) fhypgq;fd;  ,) Nyhj;jy;  <) mk;hp  
 

8. Choose the correct statement(s) 
1) The Indus people used carnelian for making ornaments  

2) Black colour potter was found in Indus civilization  
 a) 1 only   b) 2 only   c) both   d) None of these  
  
 rhpahd $w;W /$w;Wfisj; Njh;f 

1) rpe;J rkntsp kf;fs; Mguzk; nra;a rptg;G epw kzpf;fw;fisg; 
gad;gLj;jpdh;  

2) rpe;J rkntsp kl;ghz;lq;fs; fUg;G epwj;jpy; ,Ue;jd  
 m) 1 kl;Lk;     M) 2 kl;Lk;    ,) ,uz;Lk;   <) ,jpy; vJTkpy;iy  
 
9. Which one of the following is a early vedic period site? 

 a) Ayodhi   b) Taxila   c) Indra Prastha   d) Kosala  
  
 fPNo cs;stw;wpy; vJ njhlf;f Ntj fhy ,lk;? 
 m) mNahj;jp  M) jl;rrPyk;  ,) ,e;jpug;u];jk;   <) Nfhryk;  
 

10. The basic unit of Politics in early vedic period was _________ 
 a) Gram   b) Jana   c) Clan   d) None of these  
  
 Kd; Ntj fhyj;jpy; murpaypd; mbg;gil myF _________ 
 m) fpuhkk;   M) [dh   ,) Fyk;      <) ,jpy; vJTkpy;iy  
 
11. Which one of the following God is not important during later vedic 

period? 
 a) Vishnu   b) Rudra   c) Prajapathi  d) Indra  
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 fPNo cs;stw;wpy; gpd; Ntj fhyj;jpy; Kf;fpaj;Jtk; ngwhj xU flTs;?  
 m) tp~;Z  M) Uj;ud;   ,) gpu[hgjp  <) ,e;jpud;  
 

12. Choose the correct statement(s): 
1) Wheat and cotton was cultivated by the Indus people  

2) Wheat and cotton was mentioned in Rig vedic text  
 a) 1 only   b) 2 only   c) Both   d) None of these  
  
 rhpahd $w;W /$w;Wfisj; Njh;f: 

1) NfhJik> gUj;jp Mfpait rpe;J rkntsp kf;fshy; gaph; nra;ag;gl;ld  
2) NfhJik> gUj;jp Mfpait gw;wpa Fwpg;Gfs; hpf; Ntjj;jpy; 

Fwpg;gplg;gl;Ls;sd 
 m) 1 kl;Lk;     M) 2 kl;Lk;  ,) ,uz;Lk;     <) ,jpy; vJTkpy;iy   
 
13. Which one of the following place Dolmens are not found? 
 a) Narasingampatty    b) Vembur  

 c) Veeraragavapuram    d) Kummala Marudhu Patti  
 
 fPNo cs;s ve;j ,lj;jpy; fe;jpl;il fhzg;gltpy;iy? 
 m) eurpq;fk;gl;b     M) ntk;G+h;   
 ,) tPuuhftGuk;     <) Fk;khs kUJg; gl;b  
  

14. Choose the correct statement(s): 
1) Thiruparathikundram is relates with Jains  
2) The basic principle of Jain is free from rebirth  

 a) 1 only   b) 2 only   c) Both   d) None of these  
 
 rhpahd $w;W /$w;Wfisj; Njh;f 

1) jpUg;gUj;jpf;Fd;wk; vd;gJ rkzh; njhlh;Gila ,lkhFk;  
2) kWgpwg;gpypUe;J tpLjiy miltNj rkz rkaj;jpd; mbg;gilj; 

jj;JtkhFk;   
 m) 1 kl;Lk;    M) 2 kl;Lk;    ,) ,uz;Lk;   <) ,jpy; vJTkpy;iy  
  
15. Match the following: 
            Buddhist Council     Place  

a) First    - 1) Vaishali  
b) Second    - 2) Pataliputra  

c) Third    - 3) Kashmir  
d) Fourth    - 4) Rajagriha    

 
 nghUj;Jf 
 Gj;j khehL        ,lk;  

m) KjyhtJ   - 1) itrhyp  
M) ,uz;lhtJ   - 2) ghlypGj;jpuk;  
,) %d;whtJ   - 3) fh~;kPh;  
<) ehd;fhtJ   - 4) uh[fpUfk;  
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   A B C D 

a)  4 1 3 2 
b)  1 4 3 2 
c)   1 4 2 4 

d)  4 1 2 3 
  

16. Buddha‟s Dharma-Chakra-Pravartana  was held at the age of  
 a) 29   b) 32   c) 44   d) 46 
  
 Gj;jhpd; ve;j tajpy; jh;k rf;fu ghpth;j;jdh eilngw;wJ? 
 m) 29   M) 32   ,) 44   <) 46 
  

17. Choose the wrongly matched  
     Rajputs         Ruling area  

a) Sena    - Bengal  
b) Solanki    - Mewar  
c) Chandelas   - Bundelkhand  

d) Paramar    - Malwa  
  
 jtwhd ,iziaj; Njh;f 
   uhrGj;jpuh;fs;      Ml;rpg; gFjp  

m) Nrdh    - tq;fhsk;  
M) Nrhyq;fp   - Nkthh;  
,) re;Njyh;    - ge;jy;fz;l;  
<) guhkuh;    - khstk;  

  

18. Match the following: 
   Book     Author 

a) Rajadarangini    - 1) Kalhana  
b) Katha Saritha Sahara  - 2) Baskaracharya  
c) Siddhantha Sironmani  - 3) Rajasekaran  

d) Bala Ramayana   - 4) Somadeva  
  
 nghUj;Jf 
   E}y;      Mrphpah;  

m) uh[juq;fpzp    - 1) fy;;`hzh;  
M) fjh rhpj rhfuk;   - 2) gh];fuhr;rhhpahh;  
,) rpj;jhe;j rpNuhz;kzp   - 3) uh[Nrfud;  
<) ghy uhkhazk;    - 4) NrhkNjth;  

   A B C D 

a)  1 4 3 2 
b)  1 4 2 3 

c)   4 1 2 3 
d)  4 1 3 2 
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19. Linga raja Temple was built during the Rajput period at __________ 

 a) Dilwara   b) Jaipur   c) Konark   d) Bhubaneswar  
  
 uhrGj;jpuh; fhyj;jpy; fl;lg;gl;l ypq;fuh[h Nfhapy; mike;Js;s ,lk; 

__________ 
 m) jpy;thuh   M) n[a;g;G+h;  ,) Nfhdhh;f;  <) GtNd];th;  
  
20. Founder of Vatapi Chalukyan Dynasty was 
 a) Pulakesin I      b) Pulakesin II   

 c) Ramaraya          d) Jayashima  
  
 thjhgp rhSf;fpa kugpw;F mbj;jskpl;lth;  
 m) Kjyhk; GypNfrp     M) ,uz;lhk; GypNfrp  
 ,) ,uhkuhah      <) n[arpk;kd;  
  

21. Which one of the Hoysala Ruler who build the victory pillar at 
Rameswaram? 

 a) Vir Pallala II  b) Pallala III  c) Narashima II  d) Vinayaditya  
  
 gpd;tUtgtu;fspy; uhNk];tuj;jpy; ntw;wpj; J}z; el;l N`ha;rhs murh; ahh;? 
 m) tPugy;yhsh II M) gy;yhsh III ,) eurpk;kd; II <) tpdahjpj;ad;  
  

22. The Elephanta caves were constructed by _________ 
 a) Chalukyas  b) Rashtrakutas   c) Yadavas   d) Kakatiyas  
  
 vypngz;lh Fiffis mikj;jth;fs; _________ 
 m) rhSf;fpah;  M) uh~;bu$lh;   ,) ahjtu;  <) fhfjpah;  
  
23. The last Pallava ruler of Simha Vishu Dynasty was 

 a) Raja Simhan     b) Parameswaran I  
 c) Parameswaran II    d) Mamallan  
  
 rpk;k tp~;Z kugpd; filrp gy;yt murh;  
 m) uh[rpk;kd;     M) guNk];tud; I 
 ,) guNk];tud; II     <) khky;yd;  
 

24. Which one of the following Pallava ruler was the contemporary of 
Thirumangai Alwar? 

 a) Mahendravarman I    b) Narasimha Varman II  

 c) Nandhi Varman II    d) Rajasimhan  
  
 gpd;tUgtu;fspy; jpUkq;if Mo;thhpd; rk fhy gy;yt murh; ahh;? 
 m) kNfe;jputh;kd; I    M) eurpk;kth;kd; II 
 ,) ee;jpth;kd; II    <) uh[rpk;kd;  
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25. Write the following Chola rulers in correct chronological order 

 1) Uthamacholan  2) Arinjayan  3) Paranthagan II     4) Kandaraditya  
 
 fPNo cs;s Nrho murh;fis rhpahd fhy thpirapy; vOjTk;  
 1) cj;jkNrhod;  2) mhpQ;rad;  3) guhe;jfd; II   4) fz;luhjpj;jd;  
 a) 1, 2, 3, 4   b) 4, 3, 2, 1  c) 4, 2, 3, 1  d) 1, 3, 4, 2 
 
26. Which one of the following is not a special name of Raja Raja Cholan 

I? 
 a) Mummudi Cholan    b) Jayamkondan  
 c) Sivapatha Sekaran    d) Panditha Cholan  
  
 fPNo cs;stw;wpy; vJ Kjyhk; uh[ uh[ Nrhodpd; rpwg;Gg; ngah; my;y? 
 m) Kk;KbNrhod;     M) n[aq;nfhz;lhd;  
 ,) rptghj Nrfud;     <) gz;bj Nrhod;  
 
27. Choose the wrongly matched  

a) Kollipakkai   - Cochin  
b) Mannaikadakkam  - Malket  
c) Idaithurai Nadu  - Raichur  

d) Munneer Palanthivu - Maldives  
  
 jtwhd ,iziaj; Njh;f 
 m) nfhs;spg;ghf;if  - nfhr;rp  
 M) kz;izflf;fk;  - khy;nfl;  
 ,) ,ilj;Jiw ehL  - nua;#h;  
 <) Ke;ePh; goe;jPT   - khyj;jPT  
 
 
28. Match the following  
   Temple      Place  

a) Kambakareshwarar   - 1) Kumbakonam  

b) Arivatteswarar    - 2) Tarasuram  
c) Nageswar    - 3) Narthamalai  
d) Vijayalaya Choleeswaram - 4) Thirupuvanam  

 
 nghUj;Jf: 
   Nfhapy;     ,lk;  
 m) fk;gfNu];tuh;    - 1) Fk;gNfhzk;  
 M) mwptl;NlRtuh;    - 2) jhuhRuk;  
 ,) ehNf];tuk;    - 3) ehh;j;jhkiy  
 <) tp[ahya Nrhop];tuk;   - 4) jpUGtdk;  
   A B C D 

 a)  4 2 3 1 
 b)  2 4 1 3 
 c)   4 2 1 3 

 d)  2 4 3 1 
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29. The founder of Early Pandya Kingdom was ____________ 

 a) Ranadheeran   b) Kadunkon  c) Maravarman    d) Varagunan  
 
 Kw;fhy ghz;bag; Nguuir Njhw;Wtpj;jth; ____________ 
 m) uzjPud;    M) fLq;Nfhd;  ,) khwth;kd;  <) tuFzd;  
 
30. Choose the wrongly matched  

   Book     Author  
a) Thiruppallandu  - Nammalvar  
b) Seyur Murugan Ula  - Arunagirinathar  

c) Naidatham   - Adiveera Rama Pandiyan  
d) Thiruppavai   - Aandal  

 
 jtwhd ,iziaj; Njh;f  
   E}y;     Mrphpah;  
 m) jpUg;gy;yhz;L   - ek;kho;thh;  
 M) NrA+h; KUfd; cyh  - mUzfphpehjh;  
 ,) ieljk;    - mjptPuuhkghz;bad;  
 <) jpUg;ghit   - Mz;lhs;  
 

31. Which of the Pandian Ruler built Artha Mandapam, Mani Mandapam 
and Sannadhi in Temples? 

 a) Sundara Pandian   b) Maravarman  

 c) Sadayavarman    d) Kulasekara Pandian  
 
 Nfhapy;fspy; mh;j;j kz;lgk;> kzp kz;lgk;> rd;djp Mfpatw;iw fl;ba 

ghz;ba murd; ahh;? 
 m) Re;jughz;bad;    M) khwth;kd;  
 ,) rila th;kd;    <) FyNrfu ghz;bad;  
 
32. Which of the battle is cause of first Turkiesh Muslim rule in India? 
 a) The Battle of Multan   b) Somanathapuram Battle  

 c) First Tarain Battle   d) Second Tarain Battle  
  
 ,e;jpahtpy; JUf;fpa K];yPk; muR Vw;glf; fhuzkhd Nghh; vJ? 
 m) Ky;jhd; Nghh;    M) NrhkehjGuk; Nghh;  
 ,) Kjy; jnua;d; Nghh;   <) ,uz;lhk; jnua;d; Nghh;  
 

33. Adhai Din ka Jhonpra Mosque situated in ___________ 
 a) Ajmeer   b) Lahore   c) Delhi   d) Bengal 
  
 mjha; jpd;fh N[hd;g;uh k#jp mike;Js;s ,lk; ___________ 
 m) m[;kPh;   M) yh$h;   ,) nly;yp   <) tq;fhsk; 
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34. Diwan – I – Arz was started by ____________ 

 a) Qutbudin   b) Iltutmish  c) Raziya   d) Balban  
 
 jpthd; - , – mh;]; vd;gij njhlq;fpath; ____________ 
 m) Fj;GjPd;   M) ,y;Jkp~;  ,) u~pah   <) ghy;gd;  
 
35. Which one of the following part was not under the rule of Ala-ud-din 

Khilji ? 
 a) Devagiri   b) Madurai   c) Warrangal  d) Lahore  
 
 gpd;tUtdtw;Ws; myhTjPd; fpy;[papd; Ml;rpg; gFjpahf ,y;yhj xd;W? 
 m) Njtfphp   M) kJiu   ,) thuhq;fy;  <) yh$h;  
 
36. Who wrote the book “Tariq-ul-Hind”? 

 a) Amir Kushroo  b) Ul-Haq  c) Kizirkhan  d) Ul-Bheruni  
 
 “jhupf;– cy; - ,e;j;” vd;w E}iy vOjpath; ahu;? 
 m) mkph;F];U  M) cy;-`f;  ,) fprph;fhd;  <) my;ng&zp  
 
37. Match the following  

     Tax     Reason  
a) Jizya   - 1) Hindu Religious tax  
b) Khams   - 2) Cultivation tax  

c) Kharaj   - 3) War Booty share  
d) Jagadh   - 4) Muslim Religious tax  

 
 nghUj;Jf 
   thp    fhuzk;  
 m) [p]pah   - 1) ,e;J kjk; kPjhdJ  
 M) fk;];   - 2) tpisr;ry; thp  
 ,) fNuh[;   - 3) Nghh; gq;F  
 <) [fhj;   - 4) K];yPk; kjk; kPjhdJ  
   A B C D 

 a)  1 3 2 4 
 b)  3 2 1 4 
 c)   1 2 3 4 

 d)  2 1 4 3 
 
38. Choose the correct statement(s): 

1) Vijaya Nagar Empire was divided into six provinces for Administration  
2) The capital of Vijaya Nagara empire was Hampi  

 a) 1 only   b) 2 only   c) Both  d) None of these  
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 rhpahd $w;W /$w;Wfisj; Njh;f  
1) tp[a efug; NguuR eph;thfj;jpw;fhf MW khfhzq;fshfg; 

gphpf;fg;gl;bUe;jJ  
2) tp[a efug; Nguurpd; jiyefh; `k;gp  

 m) 1 kl;Lk;     M) 2 kl;Lk;    ,) ,uz;Lk;   <) ,jpy; vJTkpy;iy  
 
39. Mohammed Gawan was the Minister of  

 a) Feroz Shah     b) Baman Shah   
 c) Mohammed Shah III   d) Mohammed Shah II 
 
 KfkJ fthd; ahUila mikr;ruhf ,Ue;jhh;  
 m) ngNuh~; ~h     M) ghkd; ~h  
 ,) KfkJ ~h III    <) KfkJ ~h II 
 

40. Ramanujar belongs to which century? 
 a) 6   b) 12   c) 8   d) 16 
 
 uhkhD[h; ve;j E}w;whz;ilr; rhh;e;jth;? 
 m) 6   M) 12   ,) 8   <) 16 
 
41. Choose the correct statement(s): 

1) The Temple of Mirabai is situated in Udaipur  
2) Rama Saritha Manas was written by Tulsidas 

 a) 1 only   b) 2 only   c) Both   d) None of these  

 
 rhpahd $w;W /$w;Wfisj; Njh;f  

1) kPuhgha; Nfhapy; cja;G+hpy; mike;Js;sJ  
2) Jsrpjhrh; uhk rhpj khd]; vd;w E}iy vOjpAs;shh;  

 m) 1 kl;Lk;    M) 2 kl;Lk;    ,) ,uz;Lk;    <) ,jpy; vJTkpy;iy  
 
42. Choose the correct statement(s): 

1) Khwaja-Moin-ud-din Shisti was called as Karib Nawaz  

2) Baba Farid was called as Mehaboom-e-Ilahi  
 a) 1 only   b) 2 only   c) Both   d) None of these  

 
 rhpahd $w;W /$w;Wfisj; Njh;f  

1) fhpg; eth~; vd miof;fg;gl;lth; Fth[h nkha;DjPd; rp];b Mthh;  
2) nk`G+k;-,-,yh`p vd miof;fg;gl;lth; ghgh ghPj; Mthh; 

 m) 1 kl;Lk;    M) 2 kl;Lk;    ,) ,uz;Lk;   <) ,jpy; vJTkpy;iy 
 

43. Bhakthi movement was first started at ____________ 
 a) South India  b) North India  c) West India  d) East India 
  
 gf;jp ,af;fk; Kjypy; njhlq;fpa ,lk; ___________ 
 m) njd; ,e;jpah  M) tl ,e;jpah  ,) Nkw;F ,e;jpah <) fpof;F ,e;jpah  
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44. Choose the wrongly matched (Battles of Babar) 

 a) 1526 Panipat – Ibrahim Lodi   b) 1527 Kanwa – Rana sanga 
 c) 1528 Chanderi – Rai of methini  d) 1529 Ghagra – Dawlat Lodi 
 
 jtwhd ,iziaj; NjHf 
 m) 1526 ghdpgl; - ,g;uh`pk; Nyhb  M) 1527 fd;th- uhzh rq;fh 
 ,) 1528 re;Njup- Nkjpdp uha;   <) 1529 fhf;uh  - njsyj; Nyhb 
  
45. Choose the correct statement(s) : 

 1. The Tomb of Sher shah was situated in Purana Quila. 
 2. Sher Shah introduced Ryotwari system. 
 a) 1 only  b) 2 only  c) Both  d) None of these 

 
 rupahd $w;wpidj; NjHf 
 1. n~H~htpd; fy;yiw Guhzfpyhtpy; cs;sJ. 
 2. n~H~h uaj;Jthup Kiwia mwpKfg;gLj;jpdhH. 
 m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) ,jpy; VJkpy;iy 
  

46. Akbar declared “Din-i Ilahi” in the year of _____ 
 a) 1575  b) 1582  c) 1585  d) 1572 

 
 mf;gu; “jpd; - I ,yh`p” vd;gij ntspapl;l Mz;L  
 m) 1575   M) 1582   ,) 1585   <) 1572 
 

47. Choose the wrongly matched 
   Incident     Year 

 a) Shivaji  Afzalkhan Meet    -   1659 
 b) Shivaji Shaista khan meet   –  1660 
 c) Treaty of Purandar    –  1666 

 d) Death of Shivaji     –  1680 
 
 jtwhd ,iziaj; NjHf 
   epfo;T      Mz;L 
 m) rpth[p - mg;ry;fhd; re;jpg;G   - 1659  
 M) rpth[p – n~ap];l fhd; re;jpg;G - 1660  
 ,) Gue;jH cld;gbf;if   - 1666  
 <) rpth[p kuzk;    - 1680 
 
48. Choose the correct statement(s): 

 1) Shivaji collects sardeshmukhi tax. 
 2) Shivaji introduce the Zamindhari system. 

 a) 1only   b) 2 only  c) Both  d) None of these 
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 rupahd $w;wpidj; NjHf: 
 1) rpth[p rHNj~;Kfp vd;w tupia t#ypj;jhH 
 2) rpth[p [kPd;jhup Kiwia cUthf;fpdhH 
 m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;  <) ,jpy; VJkpy;iy 
 

49. Which of the following Maratha Peshwa relatedwith third Battle of 
panipat ? 

 a) Balaji vishwanath   b) Baji rao  
 c) Balaji Baji Rao    d) None of these 
 
 gpd;tUtdtw;Ws; %d;whtJ ghdpgl; NghH cld; njhlHGila kuhl;ba 

Ng~;th ahu;? 
 m) ghyh[p tp];tehj;    M) gh[puht;  
 ,) ghyh[p gh[p uht;    <) ,tHfspy; ahUk; ,y;iy 
 
50. Nadir shah belongs to which of the following Nation 

 a) Persia   b) Afghanistan  c) Magnolia  d) China 
 
 ehjpH~h fPo;f;fhZk; ve;j ehl;ilr; rhHe;jtH   
 m) ghurPfk;   M) Mg;fhdp];jhd;  ,) kq;Nfhypah <) rPdh 
 

51. Match the following: 
     Minister  Department 

a) Sachiv  - 1) Finance Minister 
b) Amatya - 2) Prime Minister 
c) Sumant   - 3) External Affairs 

d) Peshwa - 4) Internal Affairs 
 

 nghUj;Jf: 
  mikr;rH    Jiw 
 m) rr;rpth  - 1. epjpaikr;rH  
 M) mkj;jpah - 2. gpujkH 
 ,) Rke;j;  - 3. ntspAwTj;Jiw 
 <) Ng~;th - 4. cs;Jiw 
   A B C D 
 a)  4 1 2 3 

 b) 1 4 2 3 
 c) 1 4 3 2 
 d) 4 1 3 2 

 
52. The Descent of man book was written by 
 a) Hebert    b) Spencer    c) Immanuvel  d) Darwin 

 
 kdpjdpd; Njhw;wk; vd;w E}iy vOjpatH 
 m) n`gHl;   M) ];ngd;rH  ,) ,k;khDNty;   <) lhHtpd; 
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53. Choose the correct statement(s): 

 1) The Homo erectus people uses biface tools. 
 2) The biface tools are symmetry. 
 a) 1only   b) 2 only   c) Both   d) None of these 

 
 rupahd $w;W /$w;Wfisj; NjHf: 
 1) ,UKff; fUtpfis N`hNkh vuf;l]; kf;fs; gad;gLj;jpdH 
 2) ,UKff; fUtpfs; rk gf;f cUt mikg;ig nfhz;lit 
 m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;  <) ,jpy; VJkpy;iy 
 
54. Which of the following is not the lower Paleolithic site 
 a) Pallavaram b) Vadamadurai c) T. Pudhupatty d) Paari kulam 

 
 fPNo cs;stw;wpy; vJ fPo; gioa fw;fhy ,lk; my;y? 
 m) gy;yhtuk;  M) tlkJiu ,) Nj.GJg;gl;b  <) ghup Fsk; 
 

55. The fishing in Tamilnadu starts during the period of  
 a) Paleolithic   b) Mesolithic c) Neolithic  d) Iron-age 
 
 jkpo;ehl;by; kPd; gpbj;jy; njhlq;fpa fhyk;  
 m) gioafw;fhyk;  M) ,ilf;fw;fhyk; ,) Gjpa fw;fhyk; <) ,Uk;Gf; fhyk;; 
 
56. In Tamil society various social groups started during the age of  

 a) Iron-age  b) Neolithic  c) Mesolithic d) Paleolithic 
 
 jkpo; r%fj;jpy; gy;NtW r%f FOf;fs; Njhd;wpa fhyk; 
 m) ,Uk;Gf; fhyk;  M) Gjpa fw;fhyk; ,) ,ilf; fw;fhyk; <) gioafw;fhyk; 
 
57. The term “Zebu” in Harappans denotes 
 a) Goat   b) Cattle  c) Horse  d) Elephant 

 
 `ug;ghtpy; “n[G” vd;Dk; nrhy; Fwpg;gJ 
 m) ML   M) khL  ,) Fjpiu   <) ahid 
 
58. Choose the wrongly Matched 
     Hero stone    District 

a) Thathapatti  - Madurai 
b) Chengam   - Thiruvannamalai 
c) Porpannai kottai - Pudukkottai 

d) Arachalur   - Theni 
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 jtwhd ,iziaj; NjHT 
   eLfy;    khtl;lk; 
 m) jhjg;gl;b   - kJiu  
 M) nrq;fk;    - jpUtz;zhkiy  
 ,) nghw;gid Nfhl;il  - GJf;Nfhl;il  
 <) mur;rY}H    - Njdp 
 
59. The capital of sangam chola was 
 a) Vanji   b) Woraiyur  c) Thondi   d) Musiri 

 
 rq;ffhyr; NrhoHfspd; jiyefuk;  
 m) tQ;rp   M) ciwa+H  ,) njhz;b  <) Krpwp 
  

60. Choose the correct statement 
 1) The sangam Tamil people’s society was clan based communities. 
 2) The sangam society was based on land and profession. 

 a) 1 only   b) 2 only    c) Both    d) None of these 
 
 rupahd $w;wpidj; NjHf 
 1) rq;ffhy jkpo; kf;fs; Fyk; mbg;gilapyhd rKjhaq;fshf ,Ue;jdH 
 2) rq;f fhyj;jpy; epyk; kw;Wk; njhopy; mbg;gilapy; r%ff; FOf;fshf   

  fhzg;gl;ldH 
 m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;     <) ,jpy; VJkpy;iy  

 
61. “Kalingam” in sangam age means 
 a) Bangle   b) Food   c) City    d) Dress 

 
 rq;ffhyj;jpy; “fypq;fk;” vd;gJ 
 m) tisay;   M) czT  ,) efuk;   <) Mil 
 
62. Perum pathan kal was found in 
 a) Indonesia  b) Thailand  c) Malaysia  d) Korea 

 
 ngUk; gj;jd; fy; fhzg;gLk; ehL  
 m) ,e;NjhNdrpah  M) jha;yhe;J  ,) kNyrpah  <) nfhupah 
 

63. Choose the wrongly matched 
        Land     God 

a) Neithal   - Varunan 

b) Marudham  - Indhiran 
c) Mullai   - Murugan 

d) Paalai   - Kotravai 
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 jtwhd ,iziaj; NjHf 
       epyk;    flTs;  
 m) nea;jy;   - tUzd;  
 M) kUjk;   - ,e;jpud;  
 ,) Ky;iy  - KUfd;  
 <) ghiy   - nfhw;wit 
 
64. Which of the following is not a port city 
 a) Kodumanal  b) Korkai   c) Alagankulam  d) Arikkamedu 

 
 fPNo cs;stw;wpy; vJ JiwKf efuk; my;y  
 m) nfhLkzy; M) nfhw;if  ,) mofd;Fsk;  <) mupf;fNkL 
 

65. In which century the Hinayana sect of Buddhism was created 
 a) 6 B.C   b) 4 B.C   c) 2 B.C   d) 3A.D 
 
 Gj;jkj `Pdahdg; gphpT ve;j E}w;whz;by; Njhw;Wtpf;fg;gl;lJ? 
 m) fp.K. 6  M) fp.K.4    ,) fp.K.2   <)  fp.gp. 3 
 
66. Choose the correct statement(s): 
 1) Makkhali Ghosala is the founder of Aaseevaka sect 

 2) Aaseevakas found in southern India 
 a) 1 only   b) 2 only   c) Both   d) None of these 

 
 rupahd $w;wpidj; NjHf 
 1) kf;̀ hsp NfhryH vd;gtH MrPtfk; vd;w kjg; gpupit njhlq;fpdhH  
 2) MrPtfH njd;dpe;jpahtpy; fhzg;gl;ldH 
 m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;  <) ,jpy; VJkpy;iy 
 

67. Choose the correct statement(s): 
 1) Early Gana sanghas mostly belonged to family of ruling class. 
 2) Vrishni , one of the early Gana sanghas was confederation of various   

   clans. 
 a) 1 only   b) 2 only    c) Both   d) None of these 
 
 rupahd $w;wpidj; NjHf 

1) goq;fhy fz rq;fq;fs; ngUk;ghYk; MSk; tHf;fj;ijr; rhHe;j 
FLk;gj;jpdiu nfhz;bUe;jJ. 

2) goq;fhy fz rq;fq;fspy; tpU~;zp vd;gJ gy Fyq;fspd; 
$l;likg;ghFk;. 

 m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;  <) ,jpy; VJkpy;iy 
 
 

 
 

 
 

ht
tp

s:
//t

.m
e/

tn
ps

cf
re

e
https://t.me/tnpscfree

mailto:info@aramiasacademy.com
http://www.aramiasacademy.com/


 ARAM IAS ACADEMY 

 #C-40, 2nd Avenue, Anna Nagar West, Chennai – 600 040 Page 17 
    +91 8939696868/69        info@aramiasacademy.com www.aramiasacademy.com 
 
 

  
 

68. Match the following: 

      Officers    Duty 
a) Bahadur  - 1) Tax collection 
b) Sudha  - 2) Hunting  

c) Kshatri  - 3) Chariot Rider  
d) Kori kathanar - 4) Secretary 

 
 nghUj;Jf: 
    mYtyu;    gzp 
 m) gfJhu;   - 1) tup t#y; 
 M) #jh   - 2) Ntl;il 
 ,) ~j;jpup   - 3) NjNuhl;b 
 <) Nfhup fhj;jdhu;  - 4) nrayhsu; 
   A B C D 

 a) 1 3 4 2 
 b) 3 1 4 2 
 c) 1 3 2 4 

 d) 3 1 2 4 
  
69. Basic unit of administration of Bimbisara was 

 a) Military  b) Tax collection   c) Gram  d) Agriculture 
 
 gpk;gp rhuupd; epHthfj;jpd; mbg;gil myF  
 m) uhZtk;   M) tupt#y;   ,) fpuhkk;  <) tptrhak; 
  
70. Choose the wrongly matched 
      Dynasty         Founder 

a) Maurya  - Chandragupta maurya 
b) Sisunaga  - Sisunagar 

c) Nandas  - Maha Padma Nanda 
d) Aryanga  - Ajata satru 

 
 jtwhd ,iziaj; NjHf 
      tk;rk;     epWtpatH 
 m) nksupaH  - re;jpuFg;j nksupaH  
 M) rpRehfh  - rpR ehfH  
 ,) ee;jH  - kfhgj;k ee;jH  
 <) Mupaq;fh  - m[hj rj;U  

 
71. The revenue and expenditure officer of Mauryas 

 a) Maha mathreyar  b) Sthanika  c) Gopa  d) Samhartha 
 
 nksupa murpd; tUtha; kw;Wk; nrytpd mYtyH  
 m) kfhkhj;NuaH  M) ];jhdpfh  ,) NfhgH  <) rk;`u;jh 
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72. Choose the wrongly matched 

      Temple      State 
a) Khajuraho  - Odisha 
b) Dilwara   - Rajasthan 

c) Virupaksha  - Karnataka 
d) Brihadeeswara  - Tamil Nadu 

 
 jtwhd ,iziaj; NjHf 
   Nfhapy;    khepyk;  
 m) f[{uhN`h   - xbrh 
 M) jpy;thuh    - uh[];jhd;  
 ,) tpUg;ghf;~h  - fHehlfk;  
 <) gpufjP];tuH  - jkpo;ehL 
 

73. Match the following 
   Land     Type 

a) Brahma Deya  - Gifted to Brahmins 

b) Shalabhoga   - Donated to sain institutions 
c) Devadhana   - Gifted to schools 
d) Pallichandam  - Gifted to temples 

   A B C D 
 a) 1 3 2 4 

 b) 3 1 2 4 
 c) 3 1 4 2 
 d) 1 3 4 2 

 
 nghUj;Jf 
   epyk;     tif  
 m) gpuk;kNjak;  - gpuhkzHfSf;F toq;fpaJ  
 M) rhyNghfk;  - rkz epWtdq;fSf;F toq;fpaJ  
 ,) Njtjhdk;   - fy;tp epiyaq;fSf;F toq;fpaJ  
 <) gs;sp re;jk;   - Nfhapy;fSf;F toq;fpaJ 
   A B C D 

 a) 1 3 2 4 
 b) 3 1 2 4 

 c) 3 1 4 2 
 d) 1 3 4 2 
 

74. Choose the correctly matched 
 1) Thiruvalangadu plate  - Rajendra chola I 
 2) Anbil plate    - Rajendra chola I 

 3) Thiruvalangadu plate   - Sundara chola 
 4) Anbil plate    - Sundara chola 

 a) 2,3   b) 1,4   c) 1 only  d) 3 only 
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 rupahd ,iziaj; NjHf 
 1) jpUtyq;fhL nrg;NgL   - uhN[e;jpuNrhod; 1 
 2)md;gpy; nrg;NgL   - uhN[e;jpu Nrhod; 1 
 3)jpUtyq;fhL nrg;NgL  - Re;jur; Nrhod;  
 4)md;gpy; nrg;NgL   - Re;jur; Nrhod;  
 m) 2> 3   M) 1> 4  ,) 1 kl;Lk;  <) 3 kl;Lk; 
  
75. Which of the following issued gold coin had stamped the figure of 

goddess Lakshmi 

 a) Mahmud of Ghori b) Iltutmish  c) Balban  d) Alauddin khilji 
 
 flTs; yl;Rkp glj;Jld; jq;f ehzak; ntspapl;ltH  
 m) Nfhup KfkJ   M) ,y;Jkp~; ,) ghy;gd;  <) myhTjPd; fpy;[p 
  

GEOGRAPHY 
 

76. Which of the following statement is/are correct? 

1) India has longest land boundary with China compared to other 
neighbors. 

2) Leh is situated in Jammu and Kashmir union territory. 
a) 1 only   b) 2 only  c) Both  d) None 
 
fPo;f;fz;l thf;fpaq;fspy; rupahdit vJ? 

 1) kw;w mz;il ehLfis tpl ,e;jpah rPdhTld; kpfTk; ePskhd vy;iyia    
  gfpHfpwJ. 

 2) Ny, [k;K & fh~;kPH a+dpad; gpuNjrj;jpy; mike;Js;sJ. 
 m) 1 kl;Lk;  M) 2 kl;Lk;  ,),uz;Lk;  <)vJTk; ,y;iy  

 

77. India's latitudinal & longitudinal extent 
a) 8°4’ N - 36°7’ N & 68°7’ E - 97°25’E 
b) 8°4’ N - 36°7’ N & 67°8’ E - 97°25’E 

c) 8°4’ N - 37°6’ N & 68°7’ E - 97°25’E 
d) 18°14’ N - 47°6’ N &78°7’ E - 97°25’E 
 

,e;jpahtpd; ml;rNuif & jPHf;f Nuif guty; 
m) 8°4’ N - 36°7’ N & 68°7’ E - 97°25’E 

M) 8°4’ N - 36°7’ N & 67°8’ E - 97°25’E 

,) 8°4’ N - 37°6’ N & 68°7’ E - 97°25’E 

<) 18°14’ N - 47°6’ N &78°7’ E - 97°25’E 

  
78. Which of the following statements are Incorrect? 

1) Madras state named as Tamilnadu on Jan 14th 1969. 

2) Tamilnadu is 11th largest State in India. 
a) 1 only  b) 2 only  c) Both  d) None 
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fPo;f;fz;l thf;fpaq;fspy; jtwhdit vJ? 
1) kjuh]; khepyk; “jkpo;ehL” vd [dtup 14, 1969 md;W khw;wk;   
  nra;ag;gl;lJ. 
2) ,e;jpahtpNyNa jkpo;ehL 11tJ ngupa khepyk; MFk;. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) VJkpy;iy 
 

79. Match the following: 

a) 6°channel  -  India & Indonesia  
b) 8° channel  - India &Maldives 
c) 10° channel -  Andaman & Nicobar 

d) Palk Strait  -  India & Srilanka 
a)  a-4, b-2, c-3, d-1  b)  a-1, b-2, c-3, d-4 
c)  a-3, b-2, c-4, d-1  d)  a-2, b-4, c-1, d-3 

 
nghUj;Jf  
m) 6° Nrdy;  -  ,e;jpah & ,e;NjhNdrpah 
M) 8° Nrdy;  -  ,e;jpah & khyj;jPTfs; 
,) 10° Nrdy;  -  me;jkhd; & epf;NfhghH 
<) ghf; ePH re;jp -  ,e;jpah & =yq;fh 
m)  a-4, b-2, c-3, d-1  M)  a-1, b-2, c-3, d-4 

,)  a-3, b-2, c-4, d-1  <)  a-2, b-4, c-1, d-3 

 
80. Which of the following states does tropic of cancer not pass through? 

a) Rajasthan & Madhya Pradesh  b) Sikkim & Assam 

c) Mizoram & Tripura    d) Jharkhand &West Bengal 
 
fPo; cs;s khepyq;fspy; flfNuif nry;yhjit vJ? 
m) uh[];jhd; & kj;jpa gpuNjrk;   M) rpf;fpk; & mrhk;  
,) kpNrhuk; & jpupGuh     <) [hHf;fz;l; & Nkw;F tq;fk; 
 

81. Indian standard Time IST passes through Mirzapur in which of the 
following states IST line does not passes? 
a) Tamil Nadu b) Uttar Pradesh c) Chhattisgarh d) Andhra Pradesh 

 
,e;jpa jpl;l Neuk; (IST) kpHrhg+H topNa nry;fpwJ. fPo; cs;stw;wpy; ve;j 
khepyq;fspy; ,e;jpa jpl;lf;NfhL nry;ytpy;iy? 
m) jkpo;ehL      M) cj;jug; gpuNjrk;  ,) rj;jP];fH   <) Me;jpu gpuNjrk; 
 

82. Which of the following districts of Tamilnadu is created lastly? 
a) Tenkasi   b) Chengalpattu     c) Mayiladuthurai d) Ranipet 

 
fPNo cs;s jkpo;ehL khtl;lq;fspy; filrpahf cUthf;fg;gl;lJ vJ? 
m) njd;fhrp   M) nrq;fy;gl;L   ,) kapyhLJiw     <) uhzpg;Ngl;il 
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83. Which of the following peaks are present in India? 

1) Everest 
2) Kanchenjunga 
3) Nanda Devi 

4) Saramati 
5) Mahendragiri 

6) Anai mudi 
a) 1, 2, 3, 4 & 6 b) 2, 3, 4, 5 & 6 c) 1, 3 & 6  d) 2, 4 & 6 
 
fPo; cs;stw;wpy; ,e;jpahtpy; mike;Js;s rpfuq;fs; vJ?  
1) vtnu];l;  
2) fQ;rRq;fh  
3) ee;jNjtp 
4) rhuhkjp 
5) kNfe;jpufpup  
6) MidKb 
m) 1, 2, 3, 4 & 6 M) 2, 3, 4, 5 & 6 ,) 1, 3 & 6  <) 2, 4 & 6 

 

84. Which of the following is incorrectly matched? 
a) Wular Lake  -  River Jhelum 

b) Galwan valley   -  Jammu and Kashmir 
c) Gangotri   -  Uttarakhand 
d) Kibithu   -  Arunachal Pradesh 

 
fPo; cs;stw;wpy; jtwhf nghUe;jpait vJ? 
m) cyH ejp    -     [Pyk; ejp  
M) fy;thd; gs;sj;jhf;F  -  [k;K &fh~;kPH 
,) fq;Nfhj;up   -   cj;jufhz;l; 
<) fpgpj;J   - mUzhr;ry gpuNjrk; 
 

85. Which of the following are not a part of Himalayas? 
1) Pir panjal range 
2) Naga Hills  

3) Siachen glacier 
4) Meghalaya plateau 

5) Deccan plateau 
a) 1, 2, 3,4 & 5 b) 1, 2 & 3  c) 2, 3 & 4  d) 4 & 5 
 
fPNo cs;stw;wpy; vJ ,ka kiyg; gFjpfs; my;y? 
1) gpHghQ;ry;  kiyj;njhlH 
2) .ehfh kiyj;njhlH 
3) rpahr;rpd; gdpahW  
4) Nkfhya gPlg+kp 
5) jf;fhz gPlg+kp 
m) 1, 2, 3,4 & 5 M) 1, 2 & 3  ,) 2, 3 & 4  <) 4 & 5 
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86. Match the following: 

a) Bhabar  - 1) Old alluvium 
b) Terai -  2) Marshy land 
c) Bhangar -  3) New alluvium 

d) Kadar  - 4) Disappearance of rivers 
  a b c d 

a)  1  2  3  4 
b)  4  2  1  3 
c)  2  3  4  1 

d)  1  3  4  2 
 
nghUj;Jf 
m) ghgH -  1) gioa tz;ly; kz; 
M) njuha;  -  2) NrWk; rfjpAkhd epyk; 
,) ghq;fH -  3) Gjpa tz;ly; kz; 
<)  fhjH  -  4) ejpfs; kiwAk; 
  m M , < 
m)  1 2  3  4 

M)  4 2  1  3 

,)  2  3  4  1 

<)  1  3  4  2 

 
87. Pick out the incorrect one 

a) World's largest delta is created by Indus River 
b) Marusthali is region receives less than 50 cm rainfall in a year 
c) Khadar landform facilitates jute cultivation 

d) Chota Nagpur plateau is called power house of India 
 
jtwhd xd;iwj; NjHe;njL 
m) rpe;Jejp cyfpNyNa kpfg;ngupa nly;lhit cUthf;fpaJ  
M) kU];jhyp vd;w gFjp tUlj;jpw;F 50 nrd;b kPl;lUf;F Fiwthd kio  
    ghopit ngWfpwJ. 
,) fhjH epyg;gFjp rzy; rhFgbf;F cfe;jJ.  
<) Nrhl;lh ehf;g+H gPlg+kp ,e;jpahtpd; Mw;wy; tPL vd;W miof;fg;gLfpwJ 
 

88. Which of the following statements are correct? 

1) Western Ghats are also called Sahayadris 
2) Dodda betta is highest peak in Tamilnadu 
3) Western Ghats mostly had tropical evergreen forest 

a) 1, 2 & 3  b) 1 & 2 only c) 1 only  d) 2 only 
 
fPo;f;fz;l thf;fpaq;fspy; rupahdit vJ? 
1. Nkw;Fj; njhlHr;rp kiyia rfhaj;up]; vd;Wk; $WtH. 
2. njhl;lngl;lh rpfuk; jkpo; ehl;by; caukhdJ. 
3. ngUk;ghYk; ntg;g kz;ly gRik khwhf; fhLfis Nkw;F njhlHr;rp kiy 
  nfhz;Ls;sJ. 
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m) 1, 2 & 3  M) 1 & 2 kl;Lk; ,) 1 kl;Lk;  <) 2 kl;Lk; 
 

89. Identify the following using given codes 
1) This is called as poorvadris. 
2) It is discontinuous in nature 

3) Gets rainfall during North East monsoon 
a) Western guards   b) Eastern guards c) Aravallis d) Bundelkhand 

 
fPo; cs;stw;wpy; nfhLj;jpUf;Fk; Fwpg;igf; nfhz;L fz;lwpf. 
1. ,jid g+Htj;up]; vd;Wk; $WtH. 
2. ,J njhlHr;rpaw;wjhf fhzg;gLk;. 
3. tlfpof;Fg; gUtf;fhw;wpd; NghJ kio ngWk;. 
m) Nkw;F njhlHr;rp kiy   M) fpof;Fj; njhlHr;rp kiy 
,) Muty;yP];    <) gz;Ly;fz;l; 
 

90. Which of the following statements are correct 

1) Mukurthi is second highest peak in TamilNadu. 
2) Palani Hills is a part of Eastern Ghats. 

3) Pothigai hills is also known as southern Kailash. 
a) 1 only  b) 2 only  c) 1 & 2  d) 1 & 3 
 
fPo;f;fz;l thf;fpaq;fspy; rupahdit vJ? 
1. jkpo;ehl;by; ,uz;lhtJ ngupa rpfuk; Kf;FHj;jp MFk;. 
2. godp kiyj; njhlH fpof;F kiyj; njhlHr;rpapd; XH gFjp MFk;. 
3. nghjpif kiyia njw;F ifyhak; vd;Wk; miog;gH. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) 1 & 2  <) 1 & 3 
 

91. Arrange the states based on length of coastline in descending order 
a) Gujarat> Tamil Nadu> Andhra >Maharashtra 
b) Tamil> Nadu Andhra> Goa >Kerala 

c) Andaman Nicobar> Tamil Nadu> Goa> Kerala 
d) Gujarat> Kerala> Goa> Maharashtra 

 
,k; khepyq;fis flw;fiu ePsj;ij itj;J ,wq;Ftupirapy; tifg;gLj;Jf. 
m) F[uhj; > jkpo;ehL > Me;jpuh > kfhuh~;buh 
M) jkpo;ehL > Me;jpuh > Nfhth > Nfush 
,) me;jkhd; epf;NfhgH > jkpo;ehL > Nfhth > Nfush. 
<) F[uhj; > Nfush > Nfhth > kfhuh~;buh 
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92. Identify about places from given options 

a) Ennore, Marmagoa, Visakhapatnam, Nava Seva 

b) Chennai, Visakhapatnam, Marmagoa, Khandala 
c) Tuticorin, Mangalore, Paradip, Khandala 

d) Chennai, Ennore, Haldia, Mumbai 
 
NkYs;s ,lq;fis  nfhLj;Js;s Fwpg;Gfisf; nfhz;L fz;Lgpb. 

 
m) vz;Z}H, kHkNfhth> tprhfg;gl;bdk;> et Nrth 
M) nrd;id> tprhfg;gl;bdk;> kHkNfhth> fz;lyh 
,) J}j;Jf;Fb> kq;f@u;> ghujPg;> fz;lyh 
<) nrd;id> vz;Z}H> `hy;bah> Kk;ig 
 

93. Pick out the incorrect pair  

a) Utkal Plain   - Chilika Lake  
b) Coramandel Coast  - Pulicat Lake  

c) Malabar Coast   - Vembanad Lake  
d) Konkan Coast   - Kolleru Lake  

ht
tp

s:
//t

.m
e/

tn
ps

cf
re

e
https://t.me/tnpscfree

mailto:info@aramiasacademy.com
http://www.aramiasacademy.com/


 ARAM IAS ACADEMY 

 #C-40, 2nd Avenue, Anna Nagar West, Chennai – 600 040 Page 25 
    +91 8939696868/69        info@aramiasacademy.com www.aramiasacademy.com 
 
 

  
 

jtwhd ,iziaj; Njh;e;njL  
m) cl;fy; rkntsp   - rpypfh Vhp 
M) Nrho flw;fiu  - goNtw;ghL Vhp  
,) kyghh; flw;fiu  - Ntk;gdhl; Vhp  
<) nfhq;fd; flw;fiu  - nfhy;Y}W Vhp    
 

94. Which of the following statements are correct about Andaman & 
Nicobar Islands ?  

1) It is mainly composed of Equatorial Rain Forest   
2) Main Economic activities are tourism and coconut grooves  
3) It comes under jurisdiction of Madras High Court   

a) 1, 2 & 3   b) 1 & 2 only  c) 1 only   d) 3 only     
 
fPOs;s thf;fpaq;fspy; me;jkhd; kw;Wk; epf;Nfhghh; jPTfs; gw;wpa rhpahdit 
vJ? 
1) ,J G+kj;jpa Nuif kiof;fhLfis Kjd;ikahf nfhz;Ls;sJ 
2) Rw;Wyh kw;Wk; Njq;fha; Njhg;Gfs; Kjd;ikahd njhopy;fs; MFk;  
3) ,J kjuh]; cah;ePjp kd;w mjpfhu tuk;gpd; fPo; tUfpwJ  
m) 1> 2 kw;Wk; 3 M) 1 kw;Wk; 2 kl;Lk;    ,) 1 kl;Lk;  <) 3 kl;Lk;  
 

95. Consider the following statements: 
Assertion (A): Himalayan Rivers are mostly perennial in nature  

Reason (R): River capturing is common phenomena in Himalayan Rivers  
a) A is Right, R is wrong  
b) A is wrong, R is right  

c) Both A and R are right, R is the correct explanation of A  
d) Both A and R are right, R is not correct explanation of A  
 
fPo;tUtdtw;iw Muha;f   
$w;W: ,kakiyapy; ,Ue;J tUk; ejpfs; ngUk;ghYk; tw;whjitfs; MFk;  
fhuzk;: ejpfth;jy; kpf mjpfkhf ,kakiy ejpfsplk; fhzg;gLfpwJ  
m) $w;W rhp> fhuzk; jtW  
M) $w;W jtW> fhuzk; rhp  
,) $w;W fhuzk; ,uz;Lk; rup fhuzk; $w;wpd; rhpahd tpsf;fk; MFk;  
<) $w;W fhuzk; ,uz;Lk; rup fhuzk; $w;wpd; rhpahd tpsf;fky;y   
 

96. Pick out the incorrect option about Indus water treaty 
a) Indus water treaty was signed on September 19, 1960 

b) Treaty was signed between Jawaharlal Nehru and Mohammed Ali       
   Jinnah  
c) This was brokered by World Bank  

d) Beas, Ravi and Sutlej river waters allowed are India for unrestricted use 
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rpe;Jejp xg;ge;jj;ijg; gw;wp jtwhditia Njh;e;njL   
m) nrg;lk;gh; 19> 1960 md;W rpe;J ejp xg;ge;jk; ifnaOj;jplg;gl;lJ  
M) [t`h;yhy; NeUTf;Fk;> Kfk;kJ myp [pd;dhTf;Fk; ,ilapy; xg;ge;jk;  
    ifnaOj;jhdJ  
,) cyf tq;fp kj;jpa];jk; nra;J itj;jJ  
<) gpah];> uhtp kw;Wk; rl;y[; ejpapd; ePh; ,e;jpah jq;Fjilapd;wp gad;gLj;j 
   mDkjpf;fg;gl;lJ  
 

97. Which of the following statements are correct? 
1) Ganga is the longest River in India  

2) It flows in Uttar Pradesh, Bihar, West Bengal and Odisha 
3) It origins near lake Manasarovar   
a) 1 only   b) 1 & 2   c) 1, 2 & 3   d) None   
 
fPOs;stw;wpy; rhpahd thf;fpaq;fs; vit? 
1) ,e;jpahtpd; ePskhd ejp fq;if MFk;  
2) ,J cj;jpugpuNjrk;> gPfhh;> Nkw;F tq;fk; kw;Wk; xbrh Nghd;w khepyq;fspy; 
  gha;fpwJ  
3) khdrNuhth; Vhpapd; mUfpy; ,J cUthfpwJ  
m) 1 kl;Lk;     M) 1 & 2     ,) 1> 2 & 3    <) vJTkpy;iy 
 

98. Select the incorrect option about Indus River  
a) It origins near Kailash Range  

b) Galwan River is a sub-tributary of Indus river  
c) Jhelum river is longest tributary of Indus  
d) Leh city is present on Indus Bank  
 
rpe;J ejp gw;wp jtwhff; $wg;gl;lij Njh;e;njL:  
m) fapyha kiy mUfpy; cUthfpwJ  
M) fy;thd; ejp rpe;J ejpapd; Jiz ejp MFk;  
,) [Pyk; ejp> rpe;J ejpapd; nghpa Jiz ejp  
<) rpe;J ejpf;fiuapy; Ny khefuk; mike;Js;sJ  
 

99. Which of the following national parks comes under Cauvery basin? 
1) Mukkurti National Park  

2) Mudumalai National Park  
3) Indira Gandhi National Park  

4) Guindy National Park  
a) 1, 2, 3 & 4   b) 1, 2 & 3   c) 1 & 2   d) 3 & 4 
 
fPOs;s Njrpa G+q;fhf;fspy; fhNthp tbfhYf;F cl;gl;lit vJ? 
m) Kf;Fh;j;jp Njrpa G+q;fh  
M) KJkiy Njrpa G+q;fh 
,) ,e;jpuh fhe;jp Njrpa G+q;fh  
<) fpz;b Njrpa G+q;fh  
m) 1, 2, 3 & 4   M) 1, 2 & 3  ,) 1 & 2   <) 3 & 4 
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100. Identify the River which doesn‟t originate in Tamil Nadu?  

a) Noyyal   b) Tamirabharani   c) Vaigai   d) Porunaiyar  
 
jkpo;ehl;by; cUthfhj Mw;iw fz;Lgpb 
m) neha;ay;   M) jhkpuguzp   ,) itif   <) nghUieahW  
 

101. Which of the following statements are correct about India Forests? 
1) Total percentage of India’s Forest cover is 24.39% 

2) In states, Mizoram has highest forest coverage (percentage) 
3) In Tamil Nadu, Dharmapuri District have highest forest cover  
a) 1, 2 & 3   b) 1 only   c) 2 only   d) 2 & 3 only  

 
fPOs;s thf;fpaq;fspy; ,e;jpa fhLfisg; gw;wpa rhpahdit vJ? 
1) ,e;jpa fhLfspd; nkhj;j mlh;j;jp 24.39 rjtpfpjk;  
2) kpNrhuk; tpfpjhr;rhu mstpy; mjpf fhLfs; mlh;j;jpia khepy mstpy;  
   nfhz;Ls;sJ  
3) jkpo;ehl;by;> jh;kGhp khtl;lk; mjpf fhL mlh;j;jia nfhz;Ls;sJ  
m) 1> 2 & 3  M) 1 kl;Lk;     ,) 2 kl;Lk;  <) 2 & 3 kl;Lk;     
 

102. Identity the forest type using given codes below: 
1) Average rainfall 100 cm – 200 cm / year  

2) Red sanders is seen largely  
3) Trees shed their leaves  

a) Tropical Evergreen forest    b) Mountain forest  
c) Tropical monsoon forest    d) Desert Forest  
 
fPOs;s Fwpg;Gfisf; nfhz;L fhL tifia fz;lwpf 
1) ruhrhp kiog;nghopT Mz;Lf;F 100 nrkP Kjy; 200 nrkP  
2) nrk;kuk; mjpfstpy; fhzg;gLfpwJ  
3) kuq;fs; ,iyfis cjph;f;Fk;  
m) ntg;g kz;ly gRik khwhf; fhLfs;  M) kiyf;fhLfs;  
,) ntg;gkz;ly gUtf;fhw;Wf; fhLfs;  <) ghiytdf; fhLfs;  
 

103. Which of the following statement(s) is/are correct? 
1) Sundarbans is world’s largest Mangrove forest. 

2) Pichavaram is largest Mangrove forest in Tamilnadu 
a) 1 only  b) 2 only  c) Both   d) None  

 
fPOs;stw;Ws; rupahd thf;fpaq;fs; vit? 
1) cyfpy; kpfg;ngupa rJg;Gepyk; Re;jutdf; fhLfs;. 
2) gpr;rhtuk; jkpo;ehl;by; ngupa rJg;Gepy fhLfs; MFk;. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
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104. Schedule VI of Wildlife Protection Act related to 

a) Vermin Category Animals 
b) Some plants should not be cultivated 
c) Highly protected Animal 

d)  Plants which are cultivated extensively  
 

tdtpyq;F capupd ghJfhg;G rl;lk; ml;ltiz VI Fwpg;gpLtJ 
m) Ntl;ilahl cupikAs;s tpyq;Ffs; 
M) gapuplf;$lhj rpy jhtuq;fs; 
,) kpfTk; ghJfhf;fg;gl;l tpyq;Ffs; 
<) kpfTk; mjpfkhf gapuplf;$ba jhtuq;fs; 
 

105. Which of the following statement(s)is/are correct? 

1) There are 4 Tiger reserves in Tamilnadu 
2) Recently Kalakkad – Mundanthurai Tiger resrve upgraded from “Good”     
   to “Very Good” category. 

a) 1 only  b) 2 only  c) Both  d) None  
 
fPOs;stw;Ws; rupahd thf;fpaq;fs; vit? 
1) jkpo;ehl;by; 4 Gypfs; fhg;gfk; cs;sJ. 
2) rkPgj;jpy; fsf;fhL – Kz;lhe;Jiu Gypfs; fhg;gfk; “ed;W”– y; ,Ue;J “kpf 
  ed;W” vd juk; cau;j;jg;gl;lJ. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
 

106. Choose the Incorrect One: 
a) Mudumalai national park is First national park in India. 

b) Nagarjuna- Srisailam is largest Tiger reserve in India. 
c) Dehing patkai national park is lastly created. 
d) Project Tiger commenced on 1973 

 
jtwhdtw;iw Njh;T nra;f: 
m) ,e;jpahtpNyNa Kjy; Njrpag; G+q;fh KJkiy Njrpag; G+q;fh MFk;. 
M) ehfu;[{dh - =iryk; ,e;jpahtpy; kpfg;ngupa Gypfs; fhg;gfk; MFk;. 
,) njfpq; gl;fa; Njrpag; G+q;fh filrpahf cUthf;fg;gl;lJ. 
<) Gypfs; jpl;lk; 1973 y; eilKiwf;F te;jJ. 
 

107. Match the following: 
 National Park     Important Animal 
a) Namdapha    -  1) Flying squirrel 

b) Kaziranga    -  2) Asiatic Lion 
c) Gir Forest    -  3) One Horned Rhinoceros  

d) Desert National  Park  -  4) Great Indian Bustard 
a) A- 1, B – 2, C -3, D- 4   b) A- 1, B – 3, C -2, D- 4 
c) A- 4, B – 3, C -2, D- 1   d) A- 3, B – 4, C -2, D- 1 
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nghUj;Jf: 
  Njrpa G+q;fh     Kf;fpakhd tpyq;F 
m) ek;jgh     -  1) gwf;Fk; mzpy; 
M) fhrpuq;fh    -  2) Mrpa rpq;fk; 
,) fpu; fhLfs;   -  3) xw;iwf; nfhk;G fhz;lhkpUfk; 
<) ghiytd Njrpa G+q;fh  -  4) ngupa ,e;jpa fhdkapy; 
m) A- 1, B – 2, C -3, D- 4   M) A- 1, B – 3, C -2, D- 4 

,) A- 4, B – 3, C -2, D- 1    <) A- 3, B – 4, C -2, D- 1 

 

108. Which of the following statements re correct? 
1) Nilgiri Tahr is largely seen in  Guindy national park 
2) Hangul is flag species of Dachigam national park 

a) 1 only  b) 2 only  c) Both  d) None 
 
fPOs;stw;Ws; rupahd thf;fpaq;fs; vit? 
1) ePyfpup tiuahL fpz;b Njrpag; G+q;fhtpy; mjpfk; fhzg;gLfpwJ. 
2) `q;$y; ,lhr;rpq;fk; Njrpag; G+q;fhtpd; rpwg;G rpw;wpdk; MFk;. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
 

109. Incorrect one: 
 Bird Sanctuary     Year 

a) Pulicat     -  1986 
b) Karikili    -  1989 
c) Vellode    -  1997 

d)  Vedanthangal   -  1999 
 
jtwhdJ vJ? 
gwitfs; ruzhyak;        Mz;L 
m) goNtw;fhL   -  1986 
M) fupf;fpyp    -  1989 
,) nts;NshL   -  1997 
<) Ntle;jhq;fy;   -  1999 
 

110. Match the following: 

  Air        Percentage in Atmosphere 
A. N2    - 1) 21% 

B. O2    - 2) 78% 
C. Ar    - 3) 0.93% 
D. CO2    - 4) 0.036% 

   A B C D 
a)  1 2 3 4 
b)  2 1 3 4 

c)  3 2 1 4 
d)  4 3 2 1 
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nghUj;Jf: 
    (thA)      (tspkz;lyj;jpy; cs;s tpfpjk;) 
m) N2    - 1) 21% 

M) O2    - 2) 78% 

,) Ar    - 3) 0.93% 

<) CO2    - 4) 0.036% 
   m M , < 
m)  1 2 3 4 

M)  2 1 3 4 

,)  3 2 1 4 

<)  4 3 2 1 

 

111. Which of the following statement(s) is/are Incorrect? 
1) Pythogoras is the first person to pronounce that Earth is sphere. 

2) Chanakya is the first person in India to pronounce that Earth is sphere. 
a) 1 only  b) 2 only  c) Both  d) None  
 
fPOs;stw;Ws; jtwhd thf;fpaq;fs; vit? 
1) Gtp Nfhs tbtk; vd;gij Kjd;Kjypy; $wpatu; gpjhfu];. 
2) ,e;jpahtpy; Gtp Nfhsk; vd;gij Kjd;Kjypy; $wpatu; rhzf;ah. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
 

112. Identify the following personality using given code: 
1) He found the West-East movement of earth. 

2) Gave a detailed explanation about Solar and Lunar Eclipse. 
3) Found the exact value of π 
a) Chanakya  b) Socrates  c) Palto  d) Aryabhata 
 
nfhLj;jpUf;Fk; Fwpg;Gfisf; nfhz;L fPOs;s egiuf; fz;Lgpb: 
1) G+kpad; Nkw;F – fpof;F Row;r;rpia Kjd;Kjypy; fz;Lgpbj;jtu;. 
2) #upa kw;Wk; re;jpu fpufzk; gw;wp KOikahf tpsf;fp $wpatu;. 
3) Π – d; rupahd kjpg;igf $wpath;. 
m) rhzf;ah  M) rhf;uB];  ,) gpNsl;Nlh <) Mu;agl;lh 
 

113. Pick out the Incorrect Pair: 
  Space Mission    Launched Year 

1) Aryabhata  - 1965 
2) Chandrayan - 2010 
3) Mangalyan  - 2014 

4) Chandrayan 2 - 2019 
a) 1, 2 & 3  b) 1, 2, 3 & 4   c) 1 only  d) 3 & 4 only 
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jtwhd ,iziaj; Njh;e;njLf;f 
tpz;ntsp jpl;lk;    Mz;L 
1. Mu;agl;lh  - 1965 
2. re;jpuhad;  - 2010 
3. kq;fs;ahd;  - 2014 
4. re;jpuhad; 2 - 2019 
m) 1, 2 & 3  M) 1, 2, 3 & 4   ,) 1 kl;Lk;  <) 3 & 4 kl;Lk; 
 

114. When was Sathish Dhawan space centre is established at Sri Harikota , 

Andhra Pradesh? 
a) 1 October 1951   b) 2 October 1961 
c) 1 October 1971   d) 2 October 1981 
 
rjP];jthd; tpz;ntsp Muha;r;rp ikak; vg;nghOJ                                 
= `upNfhl;lhMe;jpugpuNjrj;jpy; epWtg;gl;lJ?  
m) 1 mf;Nlhgh; 1951   M) 2 mf;Nlhgh; 1961 
,) 1 mf;Nlhgh; 1971    <) 2 mf;Nlhgh; 1981 
 

115. Assertion(A): Earth generally has Four seasons 

Reason (R): Earth’s rotation responsible for seasonal change 
a) A is Right, R is Wrong   b) A is Wrong, R is Right 

c) Both A and R are Right   d) Both A and R are Wrong 
 
$w;W : Gtpf;F nghJthf ehd;F gUtq;fs; cz;L 
fhuzk; : Gtpapd; Row;rp gUt khw;wj;jpw;F fhuzk; MFk; 
m) $w;W rup fhuzk; jtW  M) $w;W jtW fhuzk; rup 
,) $w;W fhuzk; ,uz;Lk; rup  <) $w;W fhuzk; ,uz;Lk; jtW 
 

116. Which of the following is not a condition for Temperature Inversion? 

1) Long winter nights   2) Cloudless Sky 
3) Snow covered ground   4) Front Formation 

a) 1 & 2  b) 2, 3 & 4  c) All   d) None 
 
fPOs;stw;Ws; ntg;g jiyfPo; khw;wj;jpw;F  vJ fhuzkhf mikahJ? 
1) ePz;l Fspuhd ,uTfs;   2) njspthd thdk; 
3) gdp ciwe;j epyk;   4) tspKfk; cUthjy; 
m) 1 kw;Wk; 2 M) 2, 3 kw;Wk; 4 ,) midj;Jk; <) vJTk; ,y;iy 
 

117. Identify the following wind using given codes: 
1) This wind is mainly seen in mid latitudes. 

2) This wnind is also known as Roaring 40’s, Furious 50’s, Screaming 60’s. 
a) Trade winds    b) Tropical Easterlies  
c) Westerlies       d) Polar Easterlies 
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nfhLj;jpUf;Fk; Fwpg;Gfisf; nfhz;L fPOs;s fhw;iwf; fz;Lgpb: 
1) ,e;j fhw;W kj;jpa ml;r Nuiffspy; mjpfk; fhzg;gLfpwJ. 
2) ,e;j fhw;iw cWKk; ehw;gJ, rPWk; Ik;gJ> fPr;rpLk; mWgJ vdTk; $Wth;. 
m) tpahghuf; fhw;Wfs;  M) ntg;g kz;ly fpof;fj;jpa fhw;Wfs; 
,) Nkw;fj;jpa fhw;Wfs;  <) JUt fpof;fj;jpa fhw;Wfs; 
 

118. Which of the following statement(s) is/are correct? 

1. Norwesters are generally seen in chotanagpur plateau throughout the    
   year. 
2. Mangoshowers is pre monsoon showers happens mainly in kerala 

a) 1 only  b) 2 only  c) Both  d) None 
 
fPOs;stw;Ws; rupahd thf;fpaq;fs; vit? 
1. ehu;nt];lh;fs; nghJthf Nrhl;lhehf;G+h; gPlG+kpapy; tUlk; KOtJk;  
  tPRfpwJ. 
2. khQ;rhuy; vd;Dk; Kd;gUt fhy kiog;nghopT Nfushtpy; epfOk; 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
 

119. Which of the following statement(s) is/are incorrect regarding 
southwest monsoon: 
1) Kerala is the first state in India to get Rainfall. 

2) Tamilnadu doesn’t get heavy Rainfall because southwest monsoon  
   moves perpendicular to Eastern Ghats. 

a) 1 only  b) 2 only  c) Both  d) None 
 
fPOs;stw;Ws; njd; Nkw;F gUtf;fhw;W gw;wpa jtwhd thf;fpaq;fs; vit? 
1) ,e;jpahtpy; Nfush khepyj;jpy;jhd; Kjypy; kiog;nghopT tUk; 
2) njd; Nkw;F gUtf;fhw;W fpofpF njhlu;r;rp kiyfSf;F nrq;Fj;jhf  
  nry;tjhy; mjpfg;gbahd kiog;nghopT ,Ug;gjpy;iy.  
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
 

120. Pickout the Incorrect one: 
a) Mowsynram in chirapunchi have highest rainfall in the world. 

b) Chinnakallar in Valparai is third highest rainfall getting place in India. 
c) Kosi River is called sorrow of Bihar. 

d) Damodar River is called sorrow of Odisha. 
 
fPOs;stw;Ws; jtwhd thf;fpaq;fs; vit? 
m) rpuGQ;rpapy; ,Uf;Fk; nksrpd;Nuhk; cyfpNyNa mjpfkhd         
kiog;nghopitf; nfhz;Ls;sJ. 
M) thy;ghiwapy; cs;s rpd;dfy;yhu; ,e;jpahtpNyNa %d;whtJ kio ngWk; 
   ,lk; MFk;. 
,) Nfhrp ejpia gPfhupd; Jauk; vd;gh; 
<) jhNkhju; ejpia xbrhtpd; Jauk; vd;gh; 
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121. Which of the following statement(s) is/are correct? 

1) Western disturbance phenomena is responsible for sudden burst of  
    monsoon. 
2) Tibetean easterly jet streams are responsible for high intensity of   

   monsoon rainfall. 
a) 1 only  b) 2 only  c) Both  d) None 

 
fPOs;stw;Ws; rupahd thf;fpaq;fs; vit? 
1) gUtf;fhw;wpd; jpBu; tUiff;F fhuzk; Nkw;fj;jpa ,ilA+Wfs; MFk;. 
2) jpngj;jpa fpof;fj;jpa n[l;fhw;Wfs; gUtkioia mjpfupf;Fk; fhuzp  
  MFk;. 
m) 1 kl;Lk;  M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTk; ,y;iy 
 

122.  Match the following: 
    Local Winds   Blown place  
a) Chinook   - 1) North America  

b) Fohn   - 2) Asia  
c) Karaburan  - 3) Europe  
d) Pompero   - 4) South America  

a) 1, 2, 3, 4  b) 1, 3, 2, 4  c) 4, 2, 1, 3  d) 4, 3, 2, 1 
 
nghUj;Jf: 
jyf;fhw;Wfs;    tPRk; ,lk;  
m) rpD}f;   - 1) tl mnkhpf;fh  
M) /Nghd;   - 2) Mrpah  
,) fhuG+uhd;   - 3) INuhg;gh 
<) /ghk;ngNuh - 4) njd; mnkhpf;fh  
Codes: 
m) 1, 2, 3, 4  M) 1, 3, 2, 4 ,) 4, 2, 1, 3  <) 4, 3, 2, 1 

 
123. Identify the cloud type using given code: 

1) Mainly seen in equatorial region  

2) It has a horizontal base and round top  
3) It is also called fair weather cloud  

a) Circus clouds     b) Stratus clouds  
c) Cumulus clouds     d) Cumulonimbus clouds 
 
Nkf tifia nfhLf;fg;gl;l Fwpg;igf; nfhz;L fz;Lgpb: 
1) G+kj;jpa Nuif gFjpfspy; mjpfk; fhzg;gLk;  
2) ,J fpilkl;l mbj;jsj;JlDk; tl;l tbtpYk; fhzg;gLk;  
3) ,J njspthd thdpiy Nkfk; vdTk; miof;fg;gLfpwJ  
m) fPw;W Nkfk;  M) gil Nkfk;  ,) jpus; Nkfk;  <) fhh;j;jpus; Nkfk;  
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124. Find out incorrect pair  

  Trenches         Oceans  
a) Java    - Indian Ocean  
b) Mariana    - Atlantic Ocean  

c) Peru    - Pacific Ocean  
d) Puerto Rico   - Atlantic Ocean  

 
jtwhd ,iziaj; Njh;e;njLf;f  
   mfopfs;     ngUq;fly;fs;  
m) [hth   - ,e;jpag; ngUq;fly;  
M) khpahdh   - ml;yhz;bf; ngUq;fly;  
,) ngU    - grpgpf; ngUq;fly;  
<) G+h;l;Nlh hpf;Nfh   - ml;yhz;bf; ngUq;fly;  
 

125. Find out the ocean current that flows in Indian ocean  
a) Humboldt Current    b) Mascarene Current  
c) Canary Current     d) Alaskan Current  

 
,e;jpag; ngUq;flypy; ghAk; fly; ePNuhl;lj;ij fz;Lgpb  
m) `k;Nghy;l; ePNuhl;lk;    M) kh];fhPd; ePNuhl;lk;  
,) Nfdhp ePNuhl;lk;    <) myh~;fd; ePNuhl;lk;  
 

126. Arrange the types of soil in decreasing order (percentage) 

a) Black Soil > Alluvial Soil > Red soil > Desert Soil  
b) Black Soil > Laterite Soil > Alluvial Soil > Red Soil  
c) Black Soil > Red Soil > Alluvial Soil > Laterite Soil  

d) Black Soil > Desert Soil > Red Soil > Laterite Soil  
 
kz; tiffis tpfpjhr;rhu mbg;gilapy; ,wq;F thpirapy; mikf;f: 
m) fhpry; kz; > tz;ly; kz; > nrk;kz; > ghiytd kz;  
M) fhpry; kz; > ruis kz; > tz;ly; kz; > nrk;kz;  
,) fhpry; kz; > nrk;kz; > tz;ly; kz; > ruis kz;  
<) fhpry; kz; > ghiytd kz; > nrk;kz; > ruis kz;  
 

127. Which of the following statements correct about Laterite soil? 
1) It presents high temperature and high rainfall region  
2) It is highly acidic in nature  

3) It is used for making bricks  
a) 1, 2 & 3   b) 1 & 2   c) 2 & 3   d) 1 only  
 
fPOs;s thf;fpaq;fspy; ruis kz; gw;wpa rhpahd thf;fpak; vJ? 
1) mjpf ntg;gk; kw;Wk; mjpf kio ngWk; gFjpfspy; ,J fhzg;gLk;  
2) ,J mjpf mkpyj;jd;ik cilaJ  
3) ,J nrq;fy; cUthf;f cjTfpwJ  

m) 1, 2 & 3   M) 1 & 2   ,) 2 & 3   <) 1 kl;Lk;  
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128. Match the following: 

     Dams        Year of opened  
a) Bhakra Nangal   - 1) 1957 
b) Mettur    - 2) 1934 

c) Sardar Sarovar   - 3) 2018 
d) Hirakud    - 4) 1962 

e) Rihand    - 5) 1963 
a) 5, 2, 3, 4, 1 b) 5, 3, 2, 1, 4 c) 1, 2, 3, 4, 5 d) 5, 2, 3, 1, 4 
 
nghUj;Jf 
mizf;fl;Lf;fs;    jpwe;j tUlk;  
m) gf;uh eq;fy;   - 1) 1957 
M) Nkl;^h;    - 2) 1934 
,) rh;jhh; rNuhthh;   - 3) 2018 
<) `Puhf;Fl;    - 4) 1962 
c) hpfhz;l;    - 5) 1963 
m) 5, 2, 3, 4, 1 M) 5, 3, 2, 1, 4 ,) 1, 2, 3, 4, 5 <) 5, 2, 3, 1, 4 

 
129. Pick out incorrect pair: 

  Dams    Place 
1) Bhavani sagar  - Coimbatore  

2) Amaravati   - Tirupur  
3) Sathanur   - Trichy  
4) Aliyar   - Coimbatore  

a) 1 & 3 only   b) 2 & 4 only  c) 1 only   d) 3 only  
 
jtwhd ,iziaj; Njh;e;njLf;f  
mizf;fl;Lfs;    ,lk;  
m) gthdp rhfh;  - Nfhak;Gj;J}h;  
M) mkuhtjp  - jpUg;G+h;  
,) rhj;jD}h;   - jpUr;rp  
<) Mopahh;   - Nfhak;Gj;J}h;  
m) 1 & 3 kl;Lk; M) 2 & 4 kl;Lk; ,) 1 kl;Lk;  <) 3 kl;Lk; 
 

130. Pradhan Mantri Garib Kalyan Yojana related to  

a) Subsidized loan for Micro, Small and medium enterprises  
b) Supply free food grains to migrant workers and poor  

c) Waiving “interest on interest” charged on loans  
d) Giving free vegetables for poor in ration shops   
 
gpujk ke;jphp fhpg; fy;ahz; jpl;lk; vjDld; njhlh;GilaJ  
m) rpW> FW eLj;ju njhopw;rhiyf;F khdpaf; fld;  
M) Gyk;ngah;e;j njhopyhsh;fSf;Fk;> Vo;ikahdth;fSf;Fk; ,ytrkhf  
   czT jhdpak; toq;Fjy;  
,) flDf;F tl;bf;F tl;b Nghl;lij js;Sgb nra;jy;  
<) epaha tpiyf; filfspy; ,ytrkhf fha;fwpfs; jUjy;  
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131. Which of the following statements are correct about rice? 

1) India is the leading producer of rice in the World  
2) Tamil Nadu is leading producer in India  
3) Andhra Pradesh and Tanjore is rice bowl of India & Tamil Nadu      

   respectively  
a) 1, 2 & 3   b) 1 & 2   c) 3 only   d) 1 only  
 
fPOs;s thf;fpaq;fspy; mhprpia gw;wpa rhpahd thf;fpaq;fs; vit? 
1) cyfpNyNa mhprpia mjpfk; cw;gj;jp nra;Ak; ehL ,e;jpah  
2) ,e;jpa mstpy; jkpo;ehL mjpf mstpy; cw;gj;jp nra;fpwJ  
3) KiwNa Me;jpu gpuNjrk;> jQ;rhT+h;> ,e;jpah kw;Wk; jkpo;ehl;bd;    
  new;fsQ;rpak; MFk; 
m) 1, 2 & 3   M) 1 & 2   ,) 3 kl;Lk;  <) 1 kl;Lk; 
 

132. Which of the following comes under millets? 
1) Jowar   2) Bajra   3) Peas & Lentils   4) Ragi  
a) 1, 2, 3, 4  b) 1, 2 & 4   c) 1 & 2   d) 3 & 4 

 
fPOs;stw;wpy; jpiz tiffs; vJ? 
1) N[hthh;   2) fk;G   3) gl;lhzp & Jtiu  4) uhfp 
m) 1, 2, 3, 4  M) 1, 2 & 4  ,) 1 & 2   <) 3 & 4  

 
133. Which year is announced as International year of Millets by Food & 

Agricultural Organization?  
a) 2018   b) 2020  c) 2022  d) 2023 
 
ve;j tUlj;ij cyf jpiz tUlkhf czT kw;Wk; tptrha mikg;G 
mwptpj;jJ? 
m) 2018   M) 2020  ,) 2022  <) 2023 

 
134. Choose the incorrect statements: 

1) First livestock census is taken on 1919 
2) Livestock census in India is taken for every five years 
a) 1 only   b) 2 only   c) both   d) None 

 
jtwhd thf;fpaj;ij Njh;e;njL  
1) Kjy; fhy;eil fzf;nfLg;G 1919k; Mz;L vLf;fg;gl;lJ  
2) xt;nthU Ie;J tUlj;jpw;F xUKiw ,e;jpahtpy; fhy;eil fzf;nfLg;G  
   vLf;fg;gLfpwJ  
m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTkpy;iy 
 

135. Which of the following statements are correct? 
1) Magnetite is purest form of Iron Ore  
2) Peat is purest form of Coal  

3) Petrol is purest form of energy  
a) 1, 2 & 3   b) 1 only   c) 2 only   d) 3 only  
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fPOs;s thf;fpaq;fspy; rhpahdit vJ? 
1) ,Uk;Gj;jhjpy; kpfTk; J}a;ikahdJ Nkf;fdill;  
2) epyf;fhpapy; kpfTk; J}a;ikahdJ gPl;  
3) ngl;Nuhy; kpfTk; J}a;ikahd Mw;wy;  
m) 1, 2 & 3   M) 1 kl;Lk;   ,) 2 kl;Lk;   <) 3 kl;Lk;  
 

136. Match the following: 

     Places          Resources  
a) Tummala Palle   - 1) Coal  
b) Jharia    - 2) Uranium  

c) Dig Boi    - 3) Crude Oil  
d) Kolar    - 4) Gold  
a) A-2, B-1, C-3, D-4  b) A-1, B-2, C-3, D-4 

c) A-2, B-4, C-1, D-3   d) A-4, B-3, C-2, D-1  
 
nghUj;Jf 
  ,lk;     tsq;fs;  
m) Jk;ky gs;sp   - 1) epyf;fhp  
M) [hpah    - 2) ANudpak;  
,) jpf;gha;    - 3) fr;rh vz;nza;  
<) Nfhyhh;    - 4) jq;fk;  
m) A-2, B-1, C-3, D-4  M) A-1, B-2, C-3, D-4 

,) A-2, B-4, C-1, D-3   <) A-4, B-3, C-2, D-1  

 
137. Identity the state using given codes: 

1) It is leading producer of Iron in India  

2) Tata Iron and steel industry is situated here  
a) Jharkhand   b) Chattisgarh  c) Odisha  d) Tamil Nadu  

 
nfhLf;fgl;l Fwpg;igf; nfhz;L khepyj;ijf; fz;Lgpb  
1) ,J ,e;jpahtpy; ,Uk;G mjpfk; cw;gj;jp MFk; khepyk;  
2) lhl;lh ,Uk;G kw;Wk; v/F Miy ,q;F mike;js;sJ  
m) [hh;fz;l;    M) rj;jP];fh;  ,) xbrh  <) jkpo;ehL  
 

138. Which of the following statements are incorrect? 

1) Mumbai High holds 65% of crude oil production in India  
2) Muppandal has highest concentration of wind mill in single place in the 

   World  
a) 1 only   b) 2 only   c) both   d) none 
 
fPOs;stw;wpy; jtwhd ghf;fpak; vJ? 
1) ,e;jpahtpy; fr;rh vz;nza; cw;gj;jpapy; 65 rjtpfpjk; Kk;ig - i` cau 
   itj;jpUf;fpwJ  
2) Kg;ge;jy;> cyfpNyNa xNu ,lj;jpy; mjpf fhw;wiyfis nfhz;l     
  ,lkhFk;.  
m) 1 kl;Lk;   M) 2 kl;Lk;  ,) ,uz;Lk;  <) vJTkpy;iy 
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139. Match the following: 

  Establishments            Place  
a) National Jute Board      - 1) Bengaluru  
b) Central Silk Board      - 2) Tornagal  

c) Vijayanagar Steel plant     - 3) Bhadravati  
d) Visveshwaraiah Iron & Steel Industry  - 4) Kolkata  

a) 4, 3, 2, 1  b) 4, 1, 2, 3  c) 1, 2, 3, 4  d) 2, 4, 3, 1 
 
nghUj;Jf: 
  epWtdq;fs;           ,lk;  
m) Njrpa rzy; thhpak;      - 1) ngq;f@U 
M) kj;jpa gl;L thhpak;      - 2) nlhh;dfy;  
,) tp[aefh; v/F Miy      - 3) gj;uhtjp  
<) tp];Nt];tua;ah ,Uk;G kw;Wk; v/F epWtdk; - 4) nfhy;fj;jh  
m) 4> 3> 2> 1  M) 4> 1> 2> 3  ,) 1> 2> 3> 4 <) 2> 4> 3> 1 
 

140. Which of the following statements are correct?  
1) Delhi gets first metro rail service in India  

2) Chennai is 6th city in India to get metro rail service 
a) 1 only   b) 2 only   c) 1 & 2   d) none 

 
fPOs;stw;wpy; rhpahd thf;fpaq;fs; vit? 
1) ,e;jpahtpy; Kjd; Kjypy; nkl;Nuh ,uapy; Nrit ngw;wJ nly;yp MFk; 
2) nkl;Nuh nuapy; Nrit ngw;wjpy; nrd;id MwhtJ khefuk; MFk;  
m) 1 kl;Lk;   M) 2 kl;Lk;  ,) 1 & 2   <) vJTkpy;iy 
 

APTITUDE 
 

141. If product of two numbers is 400, its G.C.D = 20, then L.C.M is  

a) 20   b)  25   c) 28   d) 40 
 
,U vz;fspd; ngUf;fy; gyd;> kP.ngh.t. 20 vdpy;> kP.rP.k = _____  

 m) 20   M) 25   ,) 28   <) 40 
 

142. G.C.D OF 2923, 3239=? 

a) 37   b) 47   c) 73   d) 79 
 

2923,  3239 - d; kP.ngh.t. = ? 
 m) 37   M) 47   ,) 73   <) 79 

 
143. Find L.C.M of 2/3, 3/5, 4/7, 9/13 

a) 35   b)  38   c) 36   d) 37 
 
2/3,   3/5,  4/7,   9/13 - d; kP.rP.k. _____________ 
m) 35   M) 38   ,) 36   <) 37 
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144. If G.C.D of two numbers is 11, L.C.M is 693 and one of its numbers is 

77, then what will be the number? 
a) 99   b)  98   c) 75   d) 69 
 
,U vz;fspd; kP.ngh.t. 11> kP.rp.k. 693. mtw;wpy; Xu; vz; 77 vdpy; kw;nwhU 
vz; vd;d? 

 m) 99   M) 98   ,) 75   <) 69 
 

145. If the product of two successive prime numbers is 117,then what will 

be the L.C.M of that two numbers? 
a) 116   b)  117  c) 115  d) 118 
 
,U mLj;jLj;j gfh vz;fspd; ngUf;Fj;njhif 117 vdpy;> mt;ntz;fspd; 
kP.rp.k. vd;d? 
m) 116   M) 117  ,) 115  <) 118 
 

146. The product of two numbers is 184 and the sum of their squares is 

361. Then find the sum of the two numbers? 
a) 7   b)  27   c) 8   d) 10 
 
,uz;L vz;fspd; ngUf;Fj; njhfiahdJ 184 kw;wk; me;j ,U vz;fspd; ,U 
kbapd; $Ljy; 361 vdpy; ,uz;L vz;fspd; $Ljy; vd;d? 
m) 7   M) 27   ,) 8   <) 10 
 

147. Find the number of even prime numbers between 0 to 100 ? 

a) 0   b)  2   c) 1   d) 5 
 
0-ypUe;J 100 tiu cs;s ,ul;ilg;gil gfh vz;fspd; vz;zpf;if ahJ? 
m) 0   M) 2   ,) 1   <) 5 
 

148. The greatest number that perfectly divides 105, 1001 and 2436 
a) 7   b)  3   c) 9   d) 5 

 
105> 1001 kw;Wk; 2436 Mfpa vz;fis kpfr;rupahf tFf;Fk; kpfg; nghpa vz; 
m) 7   M) 3   ,) 9   <) 5 
 

149. The product of two numbers is 900 and its LCM is 300. Then, find its 
GCD? 
a) 3   b)  6   c) 9   d) 12 

 
,uz;L vz;fspd; ngUf;fy; njhif 900 kw;Wk; mt;tpU vz;fspd; kP.rp.k. 300 
vdpy; mjd; kP.ngh.t. vd;d? 
m) 3   M) 6   ,) 9   <) 12 
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150. Find the largest number which divides 62,132,237 to leave the same   

reminder 
a) 30   b)  32   c) 35   d) 45 
 
62> 132> 237 vd;w vz;fis tFj;J xNu vz;iz kPjpahff; nfhLf;Fk; kpfg; 
ngupa vz; vd;d? 
m) 30   M) 32   ,) 35   <) 45 
 

151. Two baskets contain 195 and 250 bananas respectively, which are   
distributed in equal number among children. Find the largest   number 

of bananas that can be given, so that 3 bananas are left over   from 
the first basket and 2 from the second. 
a) 4   b)  18   c) 8   d) 6 

 
,uz;L $ilfspy; KiwNa 195 kw;Wk; 250 thiog;goq;fs; css;d. mit rk 
vz;zpf;ifapy; Foe;ijfSf;Fg; gfpu;e;jspf;fg;gLfpd;wJ. Kjy; $ilapy; 3 
goq;fSk;> ,uz;lhtJ $ilapy; 2 goq;fSk;> kPjk; ,Uf;f Ntz;Lkhdhy; xU 
Foe;ijf;Ff; nfhLf;fg;gl Ntz;ba mjpfgl;r goq;fspd; vz;zpf;if vd;d? 
m) 4   M) 18   ,) 8   <) 6 
 

152. Two containers contain 60 and 165 litres of milk respectively. Find   
the maximum capacity of a container which can measure the milk   in 

each container an exact number of times (in litres)17.  Two containers 
contain 60 and 165 litres of milk respectively. Find   the maximum 
capacity of a container which can measure the milk   in each 

container an exact number of times (in litres) 
a) 15   b)  3   c) 5   d) 10 

 
,U nfhs;fyd;fspy; KiwNa 60 ypl;lu; kw;Wk; 165 ypl;lu; ghy; cs;sJ. ,U 
nfhs;fyd;fspd; cs;s ghiyAk; fr;fpjkhd vz;zpf;ifapy; mstplf; $ba 
nghJthd nfhs;fydpd; mjpfgl;r nfhs;sstpidf; fz;lwpf/ 
m) 15   M) 3   ,) 5   <) 10 
 

153. Find the least perfect square which is divisible by 3, 4, 5, 6 and 8. 

a) 2500  b)  1200  c) 3600  d) 900 
 
ve;j kpfr; rpwa rupahd tu;f;fk; 3> 4> 5> 6 kw;Wk; 8 My; kPjpapd;wp tFgLk; 
vd;gijf; fhz;f.  
m) 2500   M) 1200  ,) 3600  <) 900 
 

154. An electronic device makes a beep after every 60 sec. Another   device 
makes a beep after every 62 sec. They beeped together at 10   a.m. 

The time when they will next make a beep together at the   earliest is. 
a) 10.30 am  b)  10.59am  c) 10.31am  d) 11 am 
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xU kpd;rhjdk; xt;nthU 60 tpdhbf;Fg; gpwFk;> kw;nwhU kpd; rhjdk; 
xt;nthU 62 tpdhbf;Fg; gpwFk; gPg; xyp vOg;GfpwJ. ,it ,uz;Lk; 
,ize;J xNu Neuj;jpy; Kw;gfy; 10 kzpf;F gPg; xyp vOg;Gfpd;wd vdpy;> 
mLj;J mit vg;NghJ ,ize;J gPg; xypia vOg;Gk;? 
m) 10.30 am  M) 10.59 am ,) 10.31 am <) 11 am 
 

155. If a, b and c are three consecutive numbers, what is their LCM? 

a) abc  b)  a+b+c/3  c) a+b+c/2      d) Cannot Determine 
 
a, b kw;Wk; c Mfpait %d;W mLj;jjLj;j vz;fs; vdpy; mtw;wpd; kP.rp.k.? 
m) abc  M) a+b+c/3 ,) a+b+c/2    <) fz;Lgpbf;f ,ayhJ 
 

156. a - b = 3 and a²+b² = 29. Then ab =? 

a) 15   b)  18   c) 10   d) 12 
 

a - b = 3 kw;Wk; a²+b² = 29 vdpy; ab=? 
m) 15   M) 18   ,) 10   <) 12 
 

157. Find the value of (1 - 1/3) ( 1-1/4)  (1-1/5) ...... (1 - 1/ 100)  

a) 1/100  b)  1/50  c) 2/3          d) 99/100 
 

kjpg;G fhz;f: ( 1 - 1/3) ( 1-1/4)  (1-1/5) ...... (1 - 1/ 100) 

m) 1/100  M) 1/50  ,) 2/3  <) 99/100 
 

158. Simplipy :  87 × 96 ÷ 4.8 
a) 1740  b)  1500  c) 1760          d) 1670 
 
RUf;Ff: 87 × 96 ÷ 4.8 
m) 1740   M) 1500  ,) 1760  <) 1670 
 

159. Simplify:  
𝟏.𝟐𝐱𝟏.𝟐𝐱𝟏.𝟐 − 𝟎.𝟐𝐱𝟎.𝟐𝐱𝟎.𝟐

𝟏.𝟐𝐱𝟏.𝟐 + 𝟏.𝟐𝐱𝟎.𝟐+ 𝟎.𝟐𝐱𝟎.𝟐
= ? 

a) 1.2   b)  1   c) 0.2          d) 1.4 
 
 
RUf;Ff: 

𝟏.𝟐𝐱𝟏.𝟐𝐱𝟏.𝟐 − 𝟎.𝟐𝐱𝟎.𝟐𝐱𝟎.𝟐

𝟏.𝟐𝐱𝟏.𝟐 + 𝟏.𝟐𝐱𝟎.𝟐+ 𝟎.𝟐𝐱𝟎.𝟐
= ? 

 
m) 1.2   M) 1   ,) 0.2   <) 1.4  
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160. Simplify . a² + b² = 117 

ab = 54, find (a + b)/(a - b) 
a) 5   b)  11   c) 6          d) 9 
 
RUf;Ff: 
a² + b² = 117 
ab = 54, vdpy; (a + b)/(a - b)=? 
m) 5   M) 11   ,) 6   <) 9 
 

161. One fourth of two third of one fifth of a number is 10 Then find half of 

that number. 
a) 120   b)  140  c) 180          d) 150 
 
xU vz;zpd; ehd;fpd; xU gq;fpd; %d;wpd; ,uz;L gq;fpd; Ie;jpd; xU gq;F 
vdpy; mt;ntz;zpd; ,uz;by; xU gq;F vd;d? 
m) 120   M) 140  ,) 180  <) 150 
 

162. Simplify  
𝟖.𝟗 𝐱 𝟖.𝟗 𝐱 𝟖.𝟗 − 𝟏.𝟒 𝐱 𝟏.𝟒 𝐱 𝟏.𝟒

𝟖.𝟗 𝐱 𝟖.𝟗+ 𝟖.𝟗 𝐱 𝟏.𝟒+ 𝟏.𝟒 𝐱 𝟏.𝟒
= ? 

a) 75   b)  10.3  c) 14.5          d) 7.5 
 
RUf;Ff:   

𝟖.𝟗 𝐱 𝟖.𝟗 𝐱 𝟖.𝟗 − 𝟏.𝟒 𝐱 𝟏.𝟒 𝐱 𝟏.𝟒

𝟖.𝟗 𝐱 𝟖.𝟗+ 𝟖.𝟗 𝐱 𝟏.𝟒+ 𝟏.𝟒 𝐱 𝟏.𝟒
= ? 

 
m) 75   M) 10.3  ,) 14.5  <) 7.5 
 

163. The sum of squares of two numbers is 80 and the square of their 
difference is 36. The product of the two numbers is 

a) 22   b)  44   c) 58   d) 116 
 
,U vz;fspd; tu;f;fq;fspd; $Ljy; 80 kw;Wk; mt;ntz;fspd; tpj;jpahrj;jpd; 
tu;f;fk; 36 vdpy; mt;ntz;fspd; ngUf;fw;gyd; vd;d? 
m) 22   M) 44   ,) 58   <) 116 
 

164. Find the value of  𝟕𝟕 −  𝟏𝟓𝟎+  𝟑𝟔𝟔 −  𝟐𝟓 

a) 13     b)16   c) 19   d) 8 
 

kjpg;Gfhz;f:  𝟕𝟕 −  𝟏𝟓𝟎+  𝟑𝟔𝟔 −  𝟐𝟓 

m) 13   M) 16   ,) 19   <) 8 
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165.  Simplify:  
(𝟒𝟔𝟗+𝟏𝟕𝟒)𝟐−(𝟒𝟔𝟗−𝟏𝟕𝟒)𝟐

𝟒𝟔𝟗 × 𝟏𝟕𝟒
= ? 

a)  2   b) 2   c) 4   d) 643 

 

RUf;Ff:  
(𝟒𝟔𝟗+𝟏𝟕𝟒)𝟐−(𝟒𝟔𝟗−𝟏𝟕𝟒)𝟐

𝟒𝟔𝟗 × 𝟏𝟕𝟒
= ? 

m)  2   M) 2   ,) 4   <) 643 
 

CURRENT AFFAIRS 

 
166. Which of the following statement(s) is/are correct? 
 1. Vector control research center – Pondicherry 

 2. Post graduate medical Institute – Chandigarh  
 3. National Institute of communicable disease – Delhi 

a) 1 and 2   b) 1 and 3   c) 2 and 3  d) 1,2 and 3  
 

 gpd;tUtdtw;wpy; rupahd $w;Wfis fz;lwp 
 1.ntf;lu; fl;Lg;ghl;L Muha;r;rp ikak; - GJr;Nrup  
 2. Ngh];l; fpuh[{Ntl; nkbf;fy; ,d;];bba+l; - rz;bfu; 
 3. Njrpa guTk; Neha; Muha;r;rp ikak; - nly;yp 
 m) 1 kw;Wk; 2  M) 1 kw;Wk; 3  ,) 2 kw;Wk; 3   <) 1> 2 kw;Wk; 3  
 
167. Google launched its smart message app which named as? 
 a) Cello   b) Allow   c) Hallo   d) Allo 

 
 $Fs; epWtdk; mjDila nfl;bf;fhuj;jdkhd FWe;jfty; mDg;Gk; 

gad;ghl;il gpd;tUk; ve;j ngaupy; njhlq;fpaJ? 
 m) nrNyh   M) mDkjpf;f  ,) `hNyh  <) mNyh 
 

168. A name of mobile application developed by CRIS for user friendly 
freight operation in railways? 

 a) Operation five minutes   b) COTVM   

 c) UTS      d) Parichaalan 
 
 uapy;Ntapy; vspa Kiwapy; ruf;F eltbf;iffs; Nkw;f;nfhs;s CRIS 

cUthf;fpa ifNgrp nraypapd; ngau; 
 m) Operation five minutes   M) COTVM   

 ,) UTS      <) Parichaalan 

 
169. Telemedicine is an upcoming field in health science launched by 

which of the followingorganization? 
a) CERN  b) ASTROSAT   c) ISRO  d) TMT 
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 Rfhjhu tpQ;Qhdk; nfhz;L njhiy kUe;J vd;w Gyid mwpKfg;gLj;jpa 
gpd;tUk; epWtdk; vJ? 

 m) CERN  M) ASTROSAT   ,) ISRO  <) TMT 

 
170. Who launched Narmada Seva mission for conservation of Narmada 

River? 
 a) President of India   b) Vice President of India  
 c) Prime Minister of India  d) Chief Minister of Madhya Pradesh 
  
 eHkjh ejpiag; ghJfhf;Fk; eHkjh Nrth kp~d; ahuhy; Jtq;fg;gl;lJ? 
 m) ,e;jpa FbauR jiytH M) ,e;jpa FbauR Jizj; jiytH 
 ,) ,e;jpag; gpujkH   <) kj;jpagpuNjr Kjyikr;rH 
 
171. __________ acts as technology partner for national health resource 

respiratory project and provides data security 
 a) Indian space research organisation  
 b) ICT academy of Tamilnadu (ICT ACT) 

 c) Oracle corporation 
 d) Organisation for economic Co-operation and development 
 

 __________ epWtdk; NationalHealth Resource Repository-f;F njhopy;El;g 
$l;lhspahf tpsq;FtNjhL kl;Lky;yhky; jfty; ghJfhg;igAk; mspf;fpwJ. 

 m) ,e;jpa tpz;ntsp Ma;T ikak; 
 M) jkpo;ehl;bd; Irpb mfhlkp 
 ,) Muf;fps; epWtdk; 
 <) nghUshjhu xj;Jiog;G kw;Wk; Nkk;ghl;Lf;fhd mikg;G 
 

172. The colour of the ball used during the Duleep trophy cricket 
tournament is? 

 a) White  b) Brown  c) Pink  d)Yellow 

 
 JyPg; Nfhg;ig fpupf;nfl; ge;jaj;jpd; NghJ cgNahfg;gLj;jg;gLk; ge;jpd; epwk; 

vd;d? 
 m) nts;is  M) gOg;G  ,) ,sQ;rptg;G <) kQ;rs;  
 
173. Which is the first state in the country to open a blood bank for cattle?  

 a) Tamil Nadu b) Odisha  c) Rajasthan d) Maharashtra 
 
 ek; ehl;by; Kjd; Kjypy; fhy;eilfSf;F vd uj;j-tq;fp njhlq;fpa khepyk; 

vJ? 
 m) jkpo;ehL   M) xbrh   ,) uh[];jhd; <) kfhuh~;buh 
 
174. The government of India had set up a High level committee on the 

Indian diaspora under the chairmanship of L.M Singhvi on__ 

 a) September 1997    b) September 1998 
 c) September 2000    d) September 1999 
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 ve;j Mz;L ,e;jpa murhq;fk; ntspehL tho; ,e;jpaHfSf;fhf vy;.vk;.rpq;tp 
jiyikapyhd caHkl;l FOtpid mikj;jJ? 

 m) nrg;lk;gH 1997    M) nrg;lk;gH 1998 
 ,) nrg;lk;gH 2000    <) nrg;lk;gH 1999 
 

175. Which state government will setup "Book Banks" in schools to provide 
old books to needy students? 

 a) Haryana  b) Chandigarh  c)Punjab   d)Assam 
 
 ,e;jpahtpy; ve;j khepy murhq;fk; Gj;jf tq;fp vd;w mikg;ig njhlq;fp 

gioa Gj;jfq;fis NjitAs;s gs;sp khztHfSf;F toq;FfpwJ? 
 m) `upahdh  M) rz;BfH  ,) gQ;rhg;   <) m];]hk; 
 

176. According to the RBI which state considered as the richest state in 
India? 

 a) Maharashtra b) Telangana c) Karnatak  d) West Bengal 
 
 ,e;jpa uprHt; tq;fpapd; fUj;J mbg;gilapy; ve;j khepyk; gzf;fhu khepykhf 

fUjg;gLfpd;wJ? 
 m) kfhuh~;buh M) njYq;fhdh ,) fu;ehlfk;  <) Nkw;F tq;fhsk; 
 

177. "Prakash hai to vikas hai" scheme, a free household power connection 
scheme for the poor was launched recently by the state of? 

 a)Kerala  b)Bihar   c) Meghalaya d) Uttar Pradesh 
 
 ViofSf;F ,ytr tPl;L kpd; ,izg;G jpl;lkhd “gpufh~; `ha; Njh tpfh]; 

`ha;”– I ve;j khepyk; rkPgj;jpy; mwpKfk; nra;Js;sJ? 
 m) Nfush  M) gPfhH   ,) Nkfhyah <) cj;jpug;gpuNjrk; 
 

178. Natarajan Annadurai was popularly called as Aringnar Anna by whom? 
 a) Bharathiyar  b) EV Ramasamy c) Bharathidasan  d)M.K. Gandhi 

 
 eluh[d; mz;zhJiuia mwpQH mz;zh vd;W mioj;jtH ahH? 
 m) ghujpahH  M) <.Nt.uhkrhkp ,) ghujpjhrd;  <) vk;.Nf.fhe;jp 
 
179. According to UNDP report 2015 in India which state ranks 6th in 

Human development Index (2015)?  
 a)Madhya Pradesh   b) Tamil Nadu c) Jharkhand d) Delhi 
 
 If;fpa ehLfspd; tsHr;rpj; jpl;lk; mwpf;if 2015-d; gb ,e;jpahtpy; ve;j 

khepyk; kdpj Nkk;ghl;L ml;ltiz 2015-d; 6-tJ ,lj;jpy; cs;sJ? 
 m) kj;jpa gpuNjrk; M) jkpo;ehL  ,) [hHf;fz;l; <) nly;yp 
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180. Who is the Tamil poet received the “Yuva puraskar award for the year 

2019” by Sahitya Academy? 
 a) Vairamuthu  b) Piraisoodan c)Na. Muthukumar  d) Sabarinathan 
 
 rhfpj;a mfhlkp toq;Fk; “At Gu];fhH tpUJ 2019” Mk; Mz;bd; tpUijg; 

ngw;w jkpo; ftpQH ahH? 
 m) ituKj;J  M) gpiw#ld;  ,) eh. Kj;Jf;FkhH <) rgupehjd; 
 

181. The name of the launching vehicle used to launch chandrayaan- 2 is? 
 a) PSLV  b) GSLV MK-III c) GSLV III  d) PSLV C-45 
 
 re;jpuhad;-2 nrYj;j gad;gLj;jg;gl;l nrYj;J thfdj;jpd; ngaH? 
 m) PSLV  M) GSLV MK-III ,) GSLV III  <) PSLV C-45 

 

182. Which is the nodal agency to drive all e governance initiatives of 
Tamilnadu? 

 a) TNeGA  b) ELCOT  c) TAC - TV  d) NIC 

 
 jkpo;ehl;bd; midj;J , - Nrit jpl;lq;fisAk; mky;gLj;Jk; Kjd;ik 

Kfik vJ? 
 m) TNeGA  M) ELCOT  ,) TAC - TV  <) NIC 

 
183. To help financially RS.___ for the orphan girls for their marriage 

(Annai Teresa orphan girls marriage assistant scheme) by social 

welfare and nutritious meal programme development 
a) Rs.50000  b) Rs.75000  c) Rs.15000  d) Rs.25000 

 
 md;id njurh epidT mdhij ngz;fs; jpUkz cjtp jpl;lj;jpd; %ykhf 

rKjha eyd; kw;Wk; rj;JzT jpl;lj;jpd; Jiwahy; mdhij ngz;fspd; 
jpUkzj;jpw;F nfhLf;Fk; njhif vt;tsT? 

 m) &.50000  M) &.75000 ,) &.15000  <) &.25000 

 

184. The award given by Iyal Isai Nataka Mandram is? 
 a)Kalaimamani  b)Athiyaman c)Senthamizh d)Nadigar thilagam 
  
 ,ay; ,ir ehlf kd;wk; toq;Fk; tpUJ vJ? 
 m) fiykhkzp M) mjpakhd; ,) nre;jkpo;  <) ebfH jpyfk; 
 
185. In 2016-17 according to the Directorate of economics and statistics, 

Tamil Nadu the GSDP of Tamilnadu is the ___ in India. 

 a) Second Place b) Third Place c) Fourth Place d) Fifth Place 
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 2016-17-k; Mz;by; jkpof nghUspay; kw;Wk; Gs;spapay; ,af;Fdufj;jpd; gb 
,e;jpahtpy; nkhj;j khepy cs;ehl;L cw;gj;jpapy; jkpofk; vj;jidahtJ 
,lj;ijg; gpbj;Js;sJ? 

 m) ,uz;lhk; ,lk;  M) %d;whk; ,lk; ,) ehd;fhk; ,lk; <) Ie;jhk; ,lk; 
 

186. Which position does tamilnadu occupy in organ transplantation 
during 2019? 

 a) First place  b) Second place  c) Third place  d) Fifth place 
 
 2019-k; Mz;bd; kdpj cWg;G khw;W rpfpr;irapy; jkpo;ehL ve;j ,lj;ijg; 

ngw;Ws;sJ? 
 m) Kjyhk; ,lk; M) ,uz;lhkplk; ,) %d;whkplk; <) Ie;jhk; ,lk; 
 

187. Which of the following magazine has given four awards to the 
tamilnadu in 2019? 

 a) out look  b) Frontline  c) India today  d) Tamilarasu 
 
 2019-k; Mz;L fPo;f;fz;l ve;j ,jo; 4 tpUJfis jkpo;ehl;bw;F toq;fpaJ? 
 m) mTl;Yf;  M) gpuz;l;iyd; ,) ,e;jpah LNl <) jkpouR 
 

188. Human development index is composite index encompassing which of 
the following three dimensions of human development. 

 a) Health, education and poverty  
 b) Health, education and income  
 c) Health, education and irrigation 

 d) Reproductive health, Empowerment and Labour market 
 
 kdpj Nkk;ghl;L ml;ltiz vd;gJ xU fyit ml;ltiz. ,Jgpd;tUk; ve;j 

%d;W gupzhkq;fis cs;slf;fpaJ? 
 m) MNuhf;fpak;> fy;tp kw;Wk; tWik 
 M) MNuhf;fpak;> fy;tp kw;Wk; tUkhdk; 
 ,) MNuhf;fpak;> fy;tp kw;Wk; ePHg;ghrdk; 
 <) ,dg;ngUf;f MNuhf;fpak;> mjpfhukspj;jy; kw;Wk; Ntiytha;g;G re;ij 
 
189. The operating system used in Whatsapp is ____________ 

 a) Window  b) BEAM  c) Free BSD   d)Erlang 
 

 fl;nrtp mQ;rypy; gad;gLj;jg;gLk; ,af;Fk; nkd;nghUs;? 
 m) Window  M) BEAM  ,) Free BSD  <)Erlang 

 
190. Who coined the term Lokpal? 
 a) Nehru   b)Lakshmi Mall Singhvi  c) Gandhi  d) pylee 

 
 Nyhf;ghy; vDk; nrhy;iy Kjd; Kjypy; $wpatH ahH? 
 m) NeU  M) yf;~;kp khy; rpq;tp  ,) fhe;jp  <) igyp 
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191. Theppakadu is familiar for? 

 a) Deer camp     b) Tiger camp   
 c) Elephant camp    d) Wild dog camp 
 
 njg;gf;fhL vjw;F Gfo; ngw;wJ? 
 m) khd;fs; Kfhk;      M) Gypfs; Kfhk;  
 ,) ahidfs; Kfhk;     <) fhl;Leha;fs; Kfhk; 
 
192. Which among the following festival is associated with the Sikkim state 

festival?  
 a) Kharchi   b) sangai  c) Bihu  d) Red Panda 
 
 gpd;tUtdtw;wpy; ve;j xU gz;bif rpf;fpk; khepy gz;bifAld; 

njhlu;GilaJ? 
 m) fhu;r;rp   M) rhq;fha;  ,) gpF  <) rptg;G ghz;lh 
 
193. To make the Chennai City safer for women on January 1 2020. The 

Rippon buildings were illuminated in which of the following colour? 
 a) Pink   b) Red   c) Yellow   d) Green  
 
 nrd;id efiu ngz;fs; ghJfhg;G efuhkhf khw;w [dthp 1 2020 md;W 

hpg;gd; tshfkhdJ ve;j epw tpsf;fpy; xsputplg;gl;bUe;jJ? 
 m) ,sQ;rptg;G  M) rpfg;G   ,) kQ;rs;   <) gr;ir 
 
194. The third Asia para sports held at__  

 a) Bangkok   b) Jakarta  c) Colombo  d) New Delhi 
 
 %d;whtJ Mrpa ghuh tpisahl;L Nghl;bfs; eilngw;w ,lk;? 
 m) ghq;fhf;  M) [fhu;j;jh ,) nfhOk;G  <) GJjpy;yp 
 
195. What is mean by DFFT? 
 a) Double free flow with trust   b) Data figure flow with trust  

 c) Data free flow with trust   d) Digital free flow with Trust 
 
 b.v/g;.v/g;.b vd;why; vd;d? 
 m) ek;gpf;ifAld; ,ul;il ,ytr Xl;lk;   
 M) juT vz;zpf;if ek;gpf;ifAld; Xl;lk;   
 ,) ek;gpf;ifAld; juT ,ytr Xl;lk; 
 <) ek;gpf;ifAld; b[pl;ly; ,ytr Xl;lk; 
 
196. What is an average annual rise of sea level in Antarctic ocean? 
 a) 2.2 mm  b) 5.2 mm  c) 2 cm  d) 2.8 cm 

 
 mz;lhu;bf; flypy; ruhrup kl;lk; Mz;bw;f;F vt;tsT caUfpwJ? 
 m) 2.2 kp.kP  M) 5.2 kp.kP  ,) 2 nr.kP  <) 2.8 nr.kP 
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197. NITI  Aayog by the year 2030 targets to eradicate___ for all people 

everywhere in India  
 a) Population growth    b) Poverty  
 c) Water scarcity       d) Food in security 

 
 epjpMNahf; $w;Wg;gb ,e;jpahtpy; cs;s midj;J kf;fspd; ----------- ia 2030 

Mk; Mz;bw;Fs; Nghf;Ftjhf Fwpf;Nfhs; nfhz;Ls;sJ. 
 m) kf;fs; njhif tsu;r;rp    M) tWik 
 ,) ePu;gw;whf;Fiw     <) czT ghJfhg;G 
 

198. Despite rise in food crop production in India in recent years the 
eruption of farmers protest due to 

 a) high Indebtedness    b) failure of monsoon 

 c) depletion of natural resources  d) None of these 
 
 ,e;jpahtpd; czT cw;gj;jp mjpfkhdhYk; rkPgj;jpy; tptrhapfs; Nghuhl;lj;jpy; 

<Lgl fhuzkhf ,Ug;gJ vJ? 
 m) mjpf fld;gl;l epiy    M) gUtfhy kio nga;ahik 
 ,) ,aw;if tsq;fs; mjpfk; gad;gLj;Jjy; <) ,it vJTkpy;iy 
 
199. Who is the author of the book „The Tamils 1800 years ago‟? 
 a) pavanar b) rasanayagam c)V.Kanagasabai d)S.J Gunasekaram 

 
 “1800 tUlq;fSf;F Ke;ija jkpou;fs;” vd;w E}ypd; Mrpupau; ahu;? 
 m) ghthzu; M) uhrehafk; ,) tp. fdfrig <) v];.N[. FzNrfuk; 
  

200. Workmen's compensation act was introduced in the year of 
 a)1948   b)1933   c)1928   d)1923 

 
 Ntiyahl;fs; e~;l<Lr;rl;lk; cUthf;fg;gl;l Mz;L vJ? 
 m) 1948   M) 1933  ,) 1928  <) 1923 
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